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1. Inameasurement significant figures include
a) All digits except zero that are measured

b) All digits except zero that are not measured
c) All zeros at the beginning of a number

d) All digits in a number

2. The numbers 0.027500 has how many
significant figures

a) 2

b) 3

c) 5

d) 6

3. Which of the following is FALSE about
electrolytic conduction?

a) The simultaneous migration of ijons in
opposite directions constitute electrolytic

current

b) Electrolytic conduction is affected by
temperature

c) Cations migrate towards the negative
electrode

d) Electrons are the carriers of electric current

4. Which of the following is true about a
galvanic cell?

a) Oxidation occurs at the anode

b) Reduction occurs at the anode

¢) Electric potential flows through the cell
from anode to the cathode

d) Salt bridge neutralizes the effects of

- oxidation in galvanic cell.

5. The constant for the equilibrium establishes
between a slightly soluble salt and its ions
in solution is described as

a) Equilibrium constant

b) Solubility product constant

¢) Chemical constant

d) Acidic constant

a)
b)
Q)
d)

a)
b)
c)
d)

9.

In what concept is the relative
an acid defined as its relative t
lose/donate a proton to water
Bronsted-Lowry

Arrhenius

Lewis

Einstein

Strength of
endency tO

The reaction Hz + I;= 2HI is at equilibriyy
at 298K. One mole of N; gas is introduced i,
the reaction chamber at constant
temperature and constant volume, At this:
State of equilibrium will remain unaffected
More of HI will be obtained

Equilibrium constant will change

More of HI dissociate

[f equilibrium constant for the reaction N; +
3H; =2NHj; at 298K is 2.54, the value of
equilibrium constant for the reaction % N, +
3/,Hz= NH3will be

0.395

5.08

3.18

1.59

The equilibrium constant for the reaction
PClsg)= PCla(g + Clyg at 523K is 0.04.

If the value of R = 8.314JK"!, then AG® for the

a)
b)
<)
d)

10.

a)
b)
c)
d)

. It has been shown that gases X

reaction will be

+0.13K]
+5K]

+13.9K]
-13.9K]

A mixture of noble gases consisting 0(5.512&;,
He and 15.0g Neon was placed in a Cy“n-L[ial
at latm pressure, what is the p?{le -
pressure of Helium in the mixture [
4.0g; Ne = 20.0g]

0.157atm

0.53atm

0.65atm

0.75atm o

hibit marked

; at
i eclally
deviation from ideal behaviour €sp

High pressure and temperature
Low pressure and temperature e
High pressure and low temperf;wre
Low pressure and high temper
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12.

a)
b)
‘)
d)

Assuming that a gas X is an ideal gas, if
22.4g of X occupies 11.2dm3, at stp h;)w
many moles of X are in the system

0.5 moles

2.0 moles

44.8moles

none of the above

(GMV = 22.4dm?)

13.

a)
b)

‘)
d)
14.

a)
b)
c)
d)

15.

a)
b)

c)

16.

lev

. The emission of electrons from

- A metal surface with an ener

The first law of thermodynamics can be
written mathematically as

AU=q+w
AU=q—w
q=AU-H
W=q+AU

The thermodynamics parameters that does
not change in unique manner for
spontaneous reactions is =

Entropy

Internal energy

Gibbs free energy

Enthalpy

The quantity of heat which must be supplied
to decompose a compound is equal to the
heat evolved when the compound is formed.
This is the ___law?

Laplace

Hess

1st law of thermodynamics

2nd J]aw of thermodynamics

orbs and emits all the
gnetic radiation
to gamma ray

A solid body which abs
frequencies of the electroma
(from radio - frequency
region) is called

White body

Black body

Red body

Radiating body

the surface

of a metal when the metal is irradiated by

UV-light gives rise to
Photo electric effect
Compton effect
Zeeman effect

Stark effect

gy of Z.OEV
ength of

interacts with blue light with wavelenet,

400nm. Calculate the kinetic energy 0
Photoelectrons given that
=1.602x10-19),

h: 6.626 X 10.391’
C= 2.998 xloam/S

a) 3.1eV
b) 1.1eV
c) 2.25eV
d) 1.77eV

19. The discovery of radioactivity is credited to
a) Henry Becquerel

b) Evangelistica Torricelli

c) Joseph Priestly

d) JohnDalton

20. When iodine fumes cools and becomes
iodine solid directly, the process is called?

a) Sublimation

b) decomposition

c) solidification

d) fusion

21. One of these is an extensive property of

matter
a) Density
b) melting point
¢) Thermal conductivity
d) mass

22. was the first to observe the positive
charged rays which were called?

a) Eugen Goldstein & Canal rays

b) Perrin& Cathode rays

¢) James Chadwick & canal rays

d) J.]. Thompson & Protons

is the experiment that proved the

23.

existence of electrons
a) Rutherford’s gold then foil experiment
b) Milikan oil drop experiment
) Crooke’s cathode ray tube experiment
d) Chadwick’s nuclear reaction experiment

24. Give the standard notation for electron

a) 11le
b) Ole
c) 0+le
d) 10e
t leads to the

is the process tha !
t of a chemical

rmation of one seé
anew one

25.
transfo
substance to

a) Activity series

b) Chemical reaction

c) elcctroclwnucalsencs

d) Spcctrochemicnlscrics

6. A tyP i -tion in which the
of chemical reaction in v
6. ntm iompound is simultaneously reduced
sa

and oxidizcd ijs known as

( inati action
ination red

a) Comb
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a)
b)
q)
d)

32.

Disproportionation reaction
Single displacement
Double displacement

. The oxidation number of hydrogen in LiH is

-1
+1
1

+2

. One of these is the major cause of

periodicity

Electronic configuration
lonization energy
Metallic character
Electron affinity

. The modern periodic classification is based

on
Atomic weight
Melting point
Atomic number
Isotopy

. One of these is not a device for measuring

nuclear reaction

Smoke detector

Geiger counter
Scintillation counter
Semiconductor detector

The relative loss in the mass of any given
atom can be accounted for by

Mass number

Binding energy

Nuclear reaction

Alpha particle

Which of these will determine nuclear
reaction in any given atom

n/p ratio

mass number

bombardment

all of the above

- The unit of third order rate constant is

mol |1 g1

mol2 |2 g-1

mol-1]-1 g

none of the above

- Rotation of physical lightis

Chemical method
Physical method
All of the abave
None of the above

S S

35. The rate equation,

[A] = [Aloe ¥t represents
a) Zero order reaction
b) First order reaction

c) None of the above

d) Second order reaction

36. Which of these is not true of oxidation
number?

(a) oxidation numbers have no exact physical
meaning

(b) all elements in the periodic table have more
than oxidation number

(c) oxidation number help keep tract of
electrons in chemical reaction

(d) oxidation numbers can be assigned to each
atom in a molecule or ionic compound
according to specific set of rule

37. Electrovalent bonds are formed between
(a) ametal and a non-metal

(b) two metals

(c) two non-metals

(d) all of the above

38. In general, the increase in the rate of
reaction is due to the

(a) Decrease in temperature

(b) increase in fraction of molecule with
sufficient energy

(c) Decrease in AG

(d) Decrease in AS

39. The effect of changes on equilibrium
position can be quantitatively analyzed by
applying

(a) Law of mass action

(b) Law of conservation of mass

(c) Le Chartelier's principle

(d) Dalton’s atomic theory

40. Vapour pressure of solid increases with
increase in

{a) Temperature

(b) Concentration
() Boiling

(d) Melting Point

41. A nuclei located above the stability belt
must undergo to achieve stability

(a) positron emission and electron capture

(b) Neutron capture and beta emission

(c) Beta emission only

(d) Positron emission only

pe. 104TURNING POINT TUTORIALS @ UNICAL SMALL GATE, GOLDIE MOUNT ZION
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42. Achemical bond is
(a) Force of attraction existing between two

atoms S
(b) Force of attraction within an atom
¢) Force of repulsion within an atom

(d) All of the above

From the questions below, select the
appropriate answer from the following
gas laws; (a) Charles (b) Gay Lussacs (c)
Boyles (d) Avogadro

43. In which of the gas laws do you have an
inverse relationship between volume and

pressure

44. In which of the gas laws is volume directly
proportional to the number of moles?

45. In which of the gas laws, is condition of
constant pressure applied?

46. The factors affecting the state of equilibrium
exclude

(a) catalyst

(b) concentration

(c) temperature

(d) pressure

47. Which of these is not a measureable
property of matter

(a) volume

(b) mass

(c) density

(d) alloys

- 48. Some transition metal reacts with hot water
or steam to produce
(a) element
(b) compound
(¢) an oxide
(d) water gas

45. Any material which is composed of more
than one . substance physically combine
together is called

(a Mixture

) solution

C) mate,-

(d) elemem

50. Which : ‘
(a) 2‘:}"‘3’ IS not a redox reaction?
€€z + €l — 2Fey

Zn+ 2Hel — ZnCly+ H,

PE. 105TURNING POINT TUTORIALS @ UNICAL SMALL GATE,

(c) Cu0 + H,— Cu+ H;0
(d) Ca2*+ 2F- — ZnCly- CaF:

51. The radioactive K-40 isotopes decays to Ar-
40 with a half-life of 1.2 x 10% years.
Calculate the age of a sample of moon rock
found to contain 16%K-40 and 84% Ar by

mass
(a) 2.87 x 109 years
(b) 2.97 x 109 yedrs
(c) 3.17 x 10? years
(d) 3.01x 107 years

52. Usually a catalyst increases the rate of
reaction by providing a reaction pathway
with

(a) Lower activation energy

(b) Higher activation Energy

(c) constant activation energy

(d) none of the above

53. The factors that utter the state of
equilibrium are

(a) concentration, pressure and temperature

(b) concentration, volume and temperature

(c) pressure, catalyst and volume

(d) catalyst, volume and temperature

54. One of these is not true

(a) AG cannot be changed by a catalyst

(b) a catalyst cannot modify the equilibrium of
reaction

(c) a catalyst cannot initiate a reaction

(d) a catalyst cannot change the activation
energy of a reaction between none gaseous

reactant

55. Calculate the nuclear binding energy in
Joules and the binding energy per nucleon
of the 1735Cl isotope. (Atomic mass =
34.95952)

(a) 35.288995amu

(b) 38.544885amu

(c) 40.288995amu

(d) 36.34amu

56. How many hours will it take to produce
25.0g of chromium from a solution of CrCl;

by a current of 2.75A.
(a) 15.5hrs
(b) 13.4hrs
(c) 14.06hrs
(d) 9.2hrs
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57. Water has high boiling point because of
(a) the present of oxygen atoms

(b)itisa universal solvent

(c) the present of hydrogen bonding betwee

molecules
(d) none of the above

n its

58. One of these is not a factor affecting
solubility

(a) Nature of the solute and solvent

(b) temperature

(c) pressure

(d) catalyst

. moleofasolute
59. The expression Kilogramof solvent
(a) Molality

(b) molarity

(c) density

(d) Entropy change

60. The principal quantum number “n
determines

(a) the spin orientation of an electron

(b) the size of the orbital and energy of the
electron

(c) the shape of the orbital

(d) none of the above

61. When n = 4, | = 3, M;=3. Which atomic
orbital is represented?
(a) 4s
(b) 4p
() 4d
(d) 4f

62. How many moles are contained in 74g of Mg
(NO3):.
(a) 1.5mol

: ~ (b) 0.5mol -
~(¢)2mol i
~ (d)25mol

63. The tendency of atoms to accept or share
: ] attain  the electronic
- configuration of noble gases.

(a) ionization energy :

(b) electron affinity

- (c) coordinate bond
~ (d) electronegativity

64. The splitting of a large nucleus into two

~ smaller nuclei including neutrons is
~ (a) radioactivity

~ p2 106TURNING POINT TUTORIALS @ UNICAL SMALL GATE, GOLDIE MOUNT ZION
o (09030185761, 08135301934)

(b) nuclear fission
(c) nuclear fusion
(d) nuclear transmutation

65. Beta emission involves

(a) the emission of a positron from the decay;

(b) the emission of a photon with , Sinnl
wavelength from an excited nucleys y

(c) the emission of a high speed electron from
the decaying nucleus

(d) the emission of a24H nuclide from y,
decaying nucleus

66. In an electrolytic cell, reduction proceg
occurs at the while oxidation occurs 3t
the ___ respectively

(a) Anode and Cathode

(b) cathode and electrode

(c) compound and Electrolyte

(d) cathode and anode

- 67. The net chemical change that takes placen

an electrolytic cell is called
(a) chemical reaction
(b) nuclear reaction
(c) oxidation reaction
(d) cell reaction

68. Deuterium is regardedas
(a) Heavy water
(b) Light water

- (c) water gas

(d) Brine

69. Which of these isotopes of hydroge" ’
radioactive in nature?

(a) proton

(b) deuterium

(c) tritium

(d) all of the above

t
70. Fluorides is added to water t0 prever—

particularly amongst children

(a) bone cancer

(b) blindness

(<) skin cancer

(d) tooth decay

e Mt‘n

71. What is the radius of the first Bohr™
(r1)

a) 0.5292A

b) 1.0584A

c) 2.1168A

d) 4.7628A

e
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72. Which of the following is noet a wa
parameter? ve
a) Wavelength

b) Frequency
c) Wave number
d) Photons

73. The space around the nucleus with the

highest probability (>95%) of 1o cating an
electron is called

a) Orbital

b) Wave function

¢) Electron density

d) Quantum number

74. The mathematical expression of de-Broglie
hypothesis is

a) A= 2

¢) mvr=—-

d) Ax.bp=—

75. What atomic orbitals are represented by the
following combinations of quantum
number? (i) n=4, 1=3 and m;=3,

(ii) n=2, 1=0 and m;=0

a) (i) =4f, (ii))=2s

b) (i)=4d, (ii)=2p

c) (i)=4s, (ii)=2f

d) (i)=4p, (i)=2s

76. Correction of errors in chemical analysis
involve all except: A

a) Analysis of standard samples

b) Independent or parallel analysis

c¢) Blank determination

d) Standard deviation

77. Failure to distinguish between two shades
~ ofcolouris ___type of error?
- 3). Random
~b) Systematic
¢) Indeterminate
d) None of the above

78. ‘S“PP('J"S.e the true value of chloride contens
~ of sample is 24.36mg and the observe
- value is 24.27mg Calculate the absolute
RTTOr? ¢

79. is referred to as the process where

reactants are transferred into products
a) Reactants
b) Limiting reactants
€) Products
d) 'Chemical reactions

80. Electrochemistry is the branch of chemistry
that studies the relationship between

a) Potential and gravitational energies

b) Chemical and gravitational energies

) Electrical and kinetic energies

d) Kinetic and potential energies

81. Electrochemistry seeks to explain the
following __ of electrochemical reactions
except?

a) The kinetics

b) The thermodynamics

c) The mechanism

d) The electrification

82. Solutions that contain ions and therefore
conduct electricity are known as

a) Saltsolution

b) Electrolytes

¢) Aqueous solutions

d) Electrolyte solutions

83. What is cell notation for the cell reaction,

Ing + Cu?*eg= Zn*q + Cug given that the
reduction of copper is the cathode

a) Zngg/Cung// Zn?(aq/Cues

b) Zn%(q/Cug)// Znes/Cu? g

¢) Znw/Zn*aq// Cu**aqg/ Cug

d) Cu@g/ Cuw// Zne/In® (g

84. Which of the following is not part of
Dalton'’s atomic theory?

a) Matter is made up of tiny particles called
atoms _

b) During a chemical reaction, atoms are
rearranged ' .

c) During a nuclear reaction, atoms split apart

d) Allatoms of a specific element are the same

g5. Atoms is: o
a) The smallest particle in the nucleus

. .
The major component of anaci

2)) The basic building block of matter

d A particle not larger than the proton

3) -0009mg |
| 0.09m Jeus of an atom contains
- 009mg . 2)6 ' Erocuzzi)f gases and many other substances
009mg b) Neutrons and protons
¢) Electrons and protons
e - NICALSMALL GATE, GOLDIE MOUNT ZION
e s@V
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d)
87.

a)
b)
c)
d)

88.

a)
b)
c)
d)

89.

a)

)
d)

91.

Protons and similar other particles

A process that occurs without exchange of

heat is called
[sothermal process
[sobaric process
Adiabatic process
[sochoric process

The properties of a system which depend on
the total quantity of matter is
Extensive

Open system

Closed system

Intensive

One of these is not a state function
Internal energy

Temperature

Enthalpy

Entropy

_In the equationaA +bB— products, the

rate is given as Rate = [AJ*[B)Y. The order of
the reaction is

ax + by

at+b

X+y

ax x by

What is cell notation for the cell reaction,

Ing + Cutaq= Zn?'(aq) + Cug given that the
reduction of copper is the cathode

a) Zn(/Cu?*ng// In (@g)/Cu(s
Zn?*(aq)/Cugs)// Zn(s)/ Cu?* aq)

Zn)/Zn? (ag)// Cu?*(aq)/ Cug)

Cu?*(aq)/ Cu(e)// Zn(s)/Zn**(aq)

b)

q)
d)

92' _l'.ﬂ_,.-‘._‘. e

(’Igms split apart
ent are the same

a)
b)
c)
d)

95.

a)
b)

c)
d)

96.

100.

a)
b)
)
d)

101,

-

+7
+4
+2
+3

What is the role of Sulphur in the reactig
K,Cr,07 + H,0 +3s n
- 350, + 4KOH + 20y

3

Reducing agent
Oxidizing agent
Lewis acid
Lewis base

The product of combination of proton ayg
an electron is
Nucleon
Neutron
Neutrino
Neurons

_ Given the reaction 2X - 2 AY +V, whats

V?
Alpha
Beta
Gamma
Position

_What is the primary emission after k

electron capture?
Alpha

Beta

Gamma

X-ray

. The ideal gas law is exactly obeyed when

PV/nRT=0
PV/nRT=1
PV/nRT=>1
PV/nRT=<1

The pressure of 760mmHg '
equivalent to
76 torr
latm
1pa
1.8 pa

The body temperature of @ Susluredi
the UNICAL Health Center W25 me
310.04k  What is the temP
Fahrenheit.
36.89°F
32°F
98.4oF
100.4°F

Scanned by CamScanner



QUESTION BANK |,

y

M

102. A gas that perfect]
gases that show real
is called

a) Aperfect gas

b) Apartial gas

¢) Anideal gas

d) Arealgas

y obe)_fs the lawsg of
ISpersiye tendencjeg

103.  Kcfor the dissociation of water

Hz0 2Hzg+ 1/202(g) at 1000¢C.

Given Kp=1.77x10-6atm at R=0.0
1k-1is

a) 1.69x108 -

b) 1.77x10-

c) 1.73x10-7

d) 1.81x10-

821Latm mol-

104.  The equilibrium consta
CaCO3= CaOgy) + COyyis
a) [Ca0]
b) P(CO;)
¢) P(Ca0)(C0,)
C0;][Ca0]

d) ———

[CaCO3)

nt expression for

105.  Kcfor the reaction

€0 + H20(, 2C0z0) + Ha is 4.00 at 50°C.
Calculate the equilibrium concentration of
Hz0 and CO; if the initial concentration of
both reactants is 0.3M.

a) 0.1Mand 0.3M

b) 0.1Mand 0.2M

) 0.2Mand 0.1M

d) 0.3Mand 0.2M

106.  Water will react with carbon to form
Water gas if

(a) the reaction takes place in water
(b) carbon ig present in the form of coke
. \9carbon js present jn powdered form
A ction take place in a non-aqueous

um energy required by
Tgo reaction is called

ive, AG is negative
ive, AG is negative

ative, AG is negative

AG is positive

Tut

—— 2 the Academic Surgeons
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109,  The €xpression PV = nRT is called
(a) general gas law

(b) idea gas equation of state
(c) Daltons Jaw
(d) Raoult's 1aw

110.  For chemical equilibrium to be attained,

which of the following is true.
(a) reactants must be gasses
(b) products must be gasses
(¢) products must decompose
(d) reaction must be reversible

111, Energy derived from attractive forces
acting between molecule is called

(a) potential energy

(b) kinetic energy

(¢) translational energy

(d) rotational energy

112, The unit of rate of reaction is
(a) Male LS

(b) Mole L-151

(c)Mole L2s

(d) L Mole1Sec1

113, reduces the rate of chemical
reaction of reducing the activation energy

(a) temperature

(b) pressure

(c) concentration

(d) catalyst

114, The mathematical expression for
Boyle's law and Charles law

(a) V « p1(TConst)&V T(PConst)

(b) V o« T(PConst)&V o p1(PConst)

() V i—(Tcanst)&V o g
(d) V=T(PConst)&/ =T (PConst)

115.  The volume of a gas is 500cm? at a
temperature of 27°C. Find its temperature
in K, when the volume is suddenly increased
to 1000cm? pressure remaining constant.

(a) 700K

(b) 690K

(c) 600K

(d) 750K

116.  Hydrogen chloride is formed by
(a) metallic bonding

(b) covalent bond ‘

(c) coordinate bonding

(d) ionic bonding

117.  lonic bonds are formed between
(a) metals and non-metals
(b) two metallic atoms

, ,JALS @ UNICAL SMALL GATE, GOLDIE MOUNT zION
Q09030185761, 08135301934)
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(c) two non-metals atoms
(d) all of the above

118.  lonic compounds
(a) are very soluble in organic compound
(b) are non-soluble in water

() have high melting and boiling point
(d) all of the above

119. The following statements describe
isotopes of elements except

(a) the atoms are exactly alike

(b) the atoms are atoms of same element
(c) they have the same chemical properties
(d) they have the same number of protons

120. A chemical equilibrium can only be

achieved in closed system
(a) true

(b) false

(c) all of the above
(d) none of the above
121.  Achemical bond is

(a) force of attraction_existing between two
atoms

(b) force of attraction within an atom

(c) force of repulsion within an atom
(d) none of the above

122,

molecules have the highest
kinetic energy

(a) gaseous
(b) liquid
(c) solid
(d) water

123, Water has high boiling point because

(a) it is an ionic compound

. (b) the presence of hydrogen bonding between
the molecules

(9] :
(d) it is formed through metallic bonding

124.  According the law of mass action, the

rate of chemical reaction is proportional to
the productof _

(a) the reactant.

(b) concentration of the reactant

(c) the concentration of the product
- (d) none of the above

125.  The passage of current 0.2A for 25min
deposited 0.36g of copper from a CuS0,
solution. Calculate the molar mass of copper

~ (a)63.5g

(b) 60.3g

© pgz 110TURNING POINT TUT

—11

(c)61.768
(d) 62.3g

126.  Chemical reactions are ace

0 .

energy changes Panieq by

() false

(b) true

(c) none of the above

(d) sometimes

127. A certain volume of hydrogen B35 g
collected over water at goc exerted
pressure 76.5SmmHg. what is the Partiy

pressure of hydrogen gas at gog if the
saturated vapour pressure of water (SVp)
60C is 7mmHg?
(a) 755mmHg
(b) 758mmHg
(c) 765mmHg
(d) 750mmHg

128. A certain amount of gas  occupies

5.0dm3 at 2 atm and 10°C, calculate the

number of moles of the present (Take R =
0.082atmdm3K 1mol1)

(a) 0.6mols
(b) 0.56mols
(€) 0.43mols
(d) 0.80mols
129. Al the following atomic particles are
nuleons except

(a) electron

(b) proton

(¢) neutron

(d) positron

o .
130. Oxidation is a process involving_—
(a) loss of electrons

(b) gain of electron
(c) loss of protans
(d) gain of protons

n
131.  The three fundamental particles of
atom are
(a) protons, neutrons and electrons
(b) alpha, beta and gamma
(¢) protons, neutrino and mesons
(d) electrons, antineutrino and neutrons
vo Of
132, The physical combination Ofr: e
more substances with properties witho'
those of other components bY

definite composition is called
(a) mixture

(b) compound
(c) molecule
(d) substance
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133.  CI-35 and CI-37 are the only naturally
occurring chlorine isotopes. The percentage
distribution which accounts or the atomic
weightof 35.5is

(a) CI-35 = 75% and Cl-37=25%,

(b) C1-35 = 65% and Cl-37=35%

(c) C1-35 =85% and CI-37=15%

(d) C1-35 = 40% and CI-37=50%

134.  10gis exploded with 100g of 0, forming
$i0z2. How many grams of Si0; are formed?

(a) 24.1g

(b) 88.6¢

(c)011.4g

(d) 100g

135.  Electrolytic conduction is made possible
by the disassociation of the electrolyte into

(a) solution

(b) crystal

(c)ions

(d) all of the above

136.  In the electrolysis of aqueous Na *Cr
solution _____is liberated at the anode.

(a) sodium

(b) water

(c) chlorine

(d) oxygen

137.  If the value of the azimuthal (I)
quantum number is 3. The permitted values
of the magnetic quantum number m are

(@) +3,42,+1,0,-1,-2,-3
(b) +1,+1,0,-1, -2
(€)+1,0,-1

(d)7

138.  The Latin name from which the symbol
of the chemical element sodium is derived
from is

(a) Natrium

(b) Na

(c) Kalium

(d) Aurium

139, Atom of element undergo bonding in
order to
(2) attainoctate and duplet state
) form compound
() undergo reaction
(d) none of the above

140,
Properties

is an example of intensive

Pg. 111TURNING POINT TUTO

(0903018576

(2) mass

(b) volume
(c) density
(d) pressure

141. If the halflife of ZJMg is 9.50min,
calculate the decay constant.

a) 0.729 min-!

b) 0.0729 min

c) 0.729s

d) 0.729day!

142.  Identify X in the following nuclear
equation e
2BU + In > 55Zr + 18Sr + 2X

a) e

b)  Je

c) in

d) #He

143.  The units of the rate of reaction is
a) moll1§1

b) mollS?

¢) moltlS

d) None of the above

144,  The particulate level of matter is in the
range

a) 1x10°-1%x107m

b) 1x107*—1x10"%m

€) 1x107"— 1x10""%m

d) None of the above

145,  The values of the shielding constant (s)
and the effective nuclear charge (Z*) for the
3d electron in copper (Cu) are respectively

and ____?

a) §=2115 Z*=785

b) §=3115 Z*=6.15

c) S=7.85 Z*=21.15

d) S=1115 Z*=6.15

146, The number of lone pairs and bond
pairs of electrons on oxygen atom in a
molecule of water are and

are respectively

147.  What is the correct significant f
the number 8000.0

a) 1

b) 4

c) 5

Bure in
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d) none of the above

148. The mathematical expression of the
first law of thermodynamics are___——

a) AU=qg+w

b) g=4U—-w

c) AU =gq+ PAU

d) Alloftheabove

149. The two thermodynamics functions

obtained from the first law of
thermodynamics are and

a) Enthalpy and entropy

b) Internal energy and enthalpy

¢) Gibbs free energy and entropy

d) None of the above

150. One of these is not a reliable criteria for

determining the spontaneity of a reaction
a) Internal energy
b) Entropy
c) Gibbs free energy
d) Enthalpy

151,  Arrange the following in order of
increasing ionic radii
Mg2* A3+ and Na*
a) Al¥*<Mg?*<Na*
b) Al3*<Na*<Mg?
c) Na*<MgZ< A3+
d) Mg?*< Al¥*< Na*

152.  Which of the following is FALSE about a
salt bridge in a galvanic cell?

a) Itseparates the two compartments

b) It allows migration of ions that maintains
the electrical neutrality of the solution

c) It contains solutions whose ions will not
react with other ions in the cell

d) It allows immigration of electrons that
maintains ionic in neutrality of the solution

153.  The law that states that mass of gas at

constant temperature and pressure is
a) Boyleslaw
b) Gay-Lussac’s law
c) Avogadro's law
d) None of the above

154.  Assuming that a gas X is an ideal gas, if
22.4g of X occupies 11.2dm3 at s.t.p. how
many moles of X are in the system?

a) 0.Smoles

b) 5.0moles

c) 2.0moles

d) 0.2Zmoles

155. A 10dm? flask contains CH,
in the ratio 0.?:0.3:0.4moles respemvn[ N,
25oC. What is the partial Press ely g
hydrogen gas in the mixture in aty, Ure

(R=0.082 1dm3atm/mol/k)

a) 0.489atm

b) 0.979atm

¢) 2.20atm

d) 0.734atm

H]a

156.  Which statement s true?

a) Decreased volume drives the reactioy inth ."i
direction of fewer number of molecyleg

b) A rise in temperature of an exothern,
reaction favours the formation OfPl‘Dduct L

¢) Increasing the concentration of the
reactants shifts the equilibrium Position ;
the left

d) A catalyst only enhances the rate of the
forward reaction :

157. In a spontaneous reaction, K is
a) Small

b) Large

¢) Constant

d) Dynamic

158. A very large value of equilibrium
constant indicates that: CeA
a) The equilibrium is affected by temperatur
b) The equilibrium lies much to the left
¢) The reaction proceeds far toward
completion g
d) AG" > 0 for the equilibrium mixture

159.  Calcufate the energy change per moleof.
an electron undergoing transition fromlevel
n=2 to level n=1

(Given that h=6.626 x 10-34s,

Na=6.023 x 1033)

a) 984.2KJmol?

b) 163.4 K|molt

¢) 246.6 Kjmolt

d) 1215 KJmol!

160. - A first order reaction is 50% Cﬂmpleterl 5
in 1.26 x 104s. How much t;ime‘wﬂ_“l‘,i_rit '
take for 100% completion?

a) 2.52x10%8s

b) 1.26x 107s

c¢) 1.33x1015s

d) Infinite

] 0st
161. What is the order of fea{ctlonhwﬁate

the
rate constant has the same unit as === -
of reaction?
a) Firstorder
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b) Zero order
c) Second order
d) None of the abovye

162. The role of a cat
a) Gibbs free energy of
b) Enthalpy of reaction
¢) Activation énergy of reactiop

d) Equilibrium constant of reaction

alyst s tg change
reaction

. 163. The result of ap ana
value of 20.27g with sta
0.012g. Calculate the cge
(Cw).

a) 0.59¢g

b) 0.059g

c) 0.95g

d) None of the above

lysis has a mean
ndard deviation of
fficient of variation

164.  Which of the following under-listed
parameters is not used in expressing
precision? :

a) Range

b) Variance

c) Chi-square

d) Standard deviation

165.  In an electrolytic cell, the positive ions
migrate towards the while the
negative ions migrate towardsthe

a) i=cathode, ii=Anode

b) i=Anode, ii=cathode

¢) i=Electrode, ii=cathode

d) i=Anode, ii=Electrode

166.  Which of the following equations does
not define molar conductivity?

Um
a) mat
b)  mz=
c) m‘=ﬂka
d)  mf

167.  The chemical interaction where two Or
more simple chemical species combine to
vield complex species is known as?

a) Analysis

b) Catalysis

¢) Polymerization

d) Synthesis

‘169. reaction will occur when
[A*][B]>K,, of AB
a) Electrovalent
- b) Crystallization
¢) Precipitation
d) Neutralization

170.  Rutherford's alpha scattering
experiment led to the postulation of
a) The plum-pudding model of the atom
* b) The nuclear model of the atom
c) Existence of tlectrons
d) Existence of orbitals

171, A pure substance

a) Hasa sharp melting ahd boilingﬂaoint
b) Isheterogeneous :

¢) Ischemogeneous

d) Allof the above

172. Which of these statements is/aré not
correct concerning Bohr's postulate

a) The electron has a definite energy
characteristics of the -orbit in which it is
moving .

b) When the electron moves in the same orbit,
itdoes no change its energy

c) The electron can take all the possible orbits

d) The electron exist only ip certain spherical
orbits called shells or energy levels

173.  The mathematical expression of de-
Broglie hypothesis is

h
a) A=-% .
b) /1=c/vh

n
c).mvr=;

h -
d) Ax.dp2—

174. The phenomenon of removal of
electrons from the surface of a metal when
irradiated by UV light is called?

a) Photoelectric effect

b) Zeeman effect

" ¢) Compton effect

d) Starkeffect

175. What atomic orbitals are represented
by the following combinations of quantum
numbers.-(i) n=4, 1=3 and m;=3, (ii) n=2, 1=0
and m;=0 '

168. The fundamental  products  of é] (i) =4f, (ii)=2s
neutralization reaction is/are? b) (i)=4d, (i)=2p
s B ) et
cid and base i)=4p, (i)=
€) Saltand water : .
' Blse ATE, GOLDIE MOUNT ZION
L SMALL GATE, 5
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176. For first order reaction
(a) t3 c0a,
(b) t300a,?
11
(C)t E [v'e] k—]

(d) none of the above

177. Which of the statement of Boyles law?
(@) VeoP

(b) Vool

(c)Veo T

(d) None of the above

178. The 4s orbital is filled before the 3d
orbital, this follows

(a) Pauli's exclusion principle

(b) Hund'’s rules

(c) Aufbas principle

(d) Bohr's models

179. Fora zero order reaction
(a) ticoa,
2

1
(b) tyo0 -

(c) None of the above
(d) all of the above

180.  Activation energy is
(a) always positive

(b) always negative

(c) can be positive or hnegative
(d) all of the above

181. Which of the following is a typical
thermochemical equation?

(2) 2Hz(g) + O2¢) »2H,0y,

(b) 2H20()= 2H;(g)+ Oz

(c) All of the above

(d) 2H20()=2H; g + O2(g); AH = +xkj

182, Which of the following is a
characteristics of chemical equilibrium?

(a) the equilibrium state is a compromise
between two opposing tendency

(b) chemical equilibrium is static

(c) a catalyst can alter the position of
equilibrium

(d) attainment of equilibrium is not
spontaneous

183. Which of the following represents the
rate law?

(a) Rate o {A}* {B}Y

(b) Rate oo {A)x/y (BYX/Y

(c) Rate = K.y {A}2 {B}Y/3

(d) None of the above

184. Universal gas constant R hag

Vallje of
(a) 8.31kg

(b) 8.314]/mol

(c) 8.314]/mol/K

(d) None of the above

185.  NaOH is a by-product in the electy
of

(a) Molten Nacl

(b) Aqueous NaCl

(c) Molten Na,S0,
(d) none of the above

Olysis

186.  Pick the odd one out .
(a) molarity

(b) concentration
(¢) specific gravity .
(d) electron affinity

187. is not an iron present ijn
aqueous solution of KOH ‘ ;

(a) K+

(b) OH-

() H

(d) H20

188. A standard solution is a solution of

(a) pure salt

(b) high concentration

(c) known concentration

(d) known chemical species

189. is not a component of an
electrolytic cell

(a) electrode

(b) electrolyte solution

() salt bridge

(d) external circuit

190.  Avogadro law state that
(@) VOO%

(b) Voo n

(o) nm%

(d) none of the abave

191. The chemical formula of the compound -
oxygen is 3

(@) 02

(b)o

(c) oz

(d) 02+

192.  The factors affecting the staté o
equilibrium exclude

(a) concentration
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(b) catalyst
(c) temperature
(d) pressure

193.  Arrhenius equation is
(a) A =Ke?3t

(b) A =Ke="

() A=

(d) none of the above

194.  What type of solution obeys Raoult’s
Law?

(a) concentration

(b) Real

(c) ideal

(d) perfect

195.  The energy liberated when an election
is added to neutral atom in a gaseous state
isreferred to as

(a) ionization energy

(b) electron affinity

(c) electronegativity

(d) electropositivity

196.  Which of the following radiation can be
emitted by the reaction-4399Tc — 4399T¢?

(a) 10n

(b) 11H

(c) 24H

(d) ooy

197.  The mathematic expression for Raoult’s
law is given as

(a) P=pox

(b) AP = PX

(c) AP = pox

(d) Po=px

198.  Which type of nuclides are likely to
decay by alpha emission?

(a) those with atomic number less than 83

(b) those with mass number less than 83

g;)) those with atomic number greater than 83

199, The name of the philosopher that

Coined the word atom is
*;naxogoras
Ythagoras
(c) Aristotle

Democritys

200, tal reason

What is the basic/fundamen
(a Why atom react?
Jto form ions

(b)

) to attain the conﬁguratiﬂn of inert gases
O neutralized valency

(d) to generate enthalpy change

201.  Which of these is not a solution?
(a) air

(b) sea

(c) water

(d) an alloy

(e) none of these

202.  The unit of the first order rate constant
isthe___

(@)

1
(b) Z
(c) Mol L-1s1
(d) None of the above
(d) None of the above

203.  Alpha particles may be described by
(a) proton

(b) hydrogen nucleus

(c)Helium nucleus

(d) halogen

204. The reaction; AgNOsng + NaClug) —
AgCl+ NaNo3g@gis commonly used in the lab
to prove the validity of

. (a) conservation of mass

(b) definite proportions

(c) multiple proportion

(d) reciprocal proportions

205.  Which of the following does not define
oxidation?

(a) Joss of electron

(b) increase in oxidation number

(c) gain in electron

(d) addition of oxygen

206.  Which of these is not a property of a
compound formed, when a metal reacts

with a non-metal?
(a) strong bond
) vandal Waals
(c) Good electrolyte
(d) solubility in polar solvent

207 | The sixth electron of carbon occupies

(a) Px orbital
b) py.()rbital
© p,-Orbital
(d) ds Orbital

The oxidation number of elements in a

free state is
(a) free
(b) zero

cA
1s @ UN! 1934)
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(d) oxidation

209. ___is formed by atoms off equal
electronegativity

(a) coordinate bond

(b) polar covalent bond

(c) non-polar covalent bond

(d) electrostatic force

210.  The existence of an element with the
same atomic number but different mass
number is referred to as

(a) element

(b) isotopy

(c) allotropy

(d) radioactivity

211. The wavelength A in an atomic
spectrum corresponds to a frequency v by
the equation

212.  There are four types of atomic orbitals,
list them? , , and

213.  Give the mathematical expression for
the Kohlrausch’s law of independent ionic
mobility?

214.  List the components of a Galvanic
cell?

—_—

and

215. Two information which equilibrium
constant  provides us with are
and

216. 0.10M H; and 0.10M I; was made to
react in a flask at a certain temperature. At
equilibrium the concentration of I, dropped
to 0.01M. Calculate Kc for this reaction at
this temperature?

217.  Asystem may be classified using matter
and energy interactions as , and

218. Volume and massare ____ properties

while density and temperature are
properties of a system

219. JJ. Thompson's expression  for
charge/mass ratio

to magnetic field is given as

220. Two main features of Rutherford'’s

atomic model] are and ?

pe.

and the force due -

221. is the kinetic equation of state?

222. The numeric value of Avogadro's
number is o

223. If AC is the change in concentration of
the relevant substance during the time At
the rate of the reactant will be ?

224.  The unit of a termolecular rate constant
is ?

225. The energy required by an atom to
accept electron(s) is called ___ and
the resultant species will be in
size than the parent atom.

226.  Solid particles formed as a solution
cools is called while that formed
when two solutions are mixed is known
as ?

227. The principal determinant of the
stability of any nucleus is ?

228.  Complete the following equation:
39Co + ¢n = 3%Mn + X

229.  The two types of errors encountered in
chemical analysis are and

230. The scientific notation o
represents ?

231, The characteristics of atomic spectrum
are

a) The spectrum is a line spectrum

b) The intensity of spectra lines decreases as
frequency increases

¢) The distances between two successive lines

decreases as the frequency increases
d) All of the above

232.  What is the maximum number of
electrons in an orbital that has the following
quantum,n=2,1=1

a) 2

b) 6

c) 10

d) 14

233..  Which of the following factors does not
influence the emf of a galvanic cell?

a) Type of reactions that occur at the electrode

b) Concentration of the reactant and products

¢) Temperature of the system
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d) Composition of the salt bridge

What is the molar ok
1.0mol/dm3KCl solution at zcsoor;jd:rfg‘;‘:)t’ of
its conductivity at these Conditionm.lf
1.0Scm*? S
a) 1.0Scm?mol?

b) 10.0Scm2mol!
) 100.0Scm?mol-!
d) 1000.0Scm?mol!

234.

235.  Chemical equilibrium

a) Only occurs in irreversible reactions

b) Isnot static

¢) Isestablished when the rates of the forward

and backward reactions are equal at a non-

constant temperature

d) Can be established more quickly in the
presence and absence of a catalyst

Changes in will change the
equilibrium concentration of reactants and
products
a) Presence and temperature
b) Pressure and nature of catalyst
¢) Temperature and concentration
d) Volume and concentration

236.

237. A process in which there is no exchange
of heat i.e. dq = 0 is called a/an

a) Isobaric process

b) Adiabatic process

¢) Isochoric process

d) Adiachotic process

law states that the quantity of
heat which must be supplied to decompose
a compound in equal to the heat evolve
when the compound is formed
a) Laplace
b) Hess
‘) Thermodynamics
d) Kinetics
239, Heterogeneous and homogeneous
mixtures can be exemplified by
Seawater and air
¢) gm"g and iron ore
lack and coffee
Smog and seawater

24 ;
0. The nuclear change of an atom is the

Same a5

M
bY .35 Number/atomic number

0 ;)55 number/proton number
ro;“'C number/electron number
on number/electron number

N
Pg. 117TURNING POINT TUTORIALS @v
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241.  Rin the equation PV=nRT is known as
a) Proportionality constant

b) Gas constant

¢) AandB

d) Bonly

242.  If the atomic mass of helium is 4g and
the molar mass of methane is 16g/mol. The
ratio of the diffusion rate of helium to

methane is
a) 2.0 ‘
b) 4.0
c) 05
d) None of the above

Which of the following statements is

correct about first order reactions?
a) t1/2X -Oij
b) tllzx 9—1—69-
0ty o.zi Ins

d) None of the above

243.

244,  Therate law is expressed as
a) Rate x [AJ*[B]®

b} Rate X [A]/ 2[B]p/?

c) Rate X l(x_),[A]"[B]y

d) None of the above

The reaction whereby there is increase

245.
in the oxidation state of the reacting species
is known as reaction

a) Species

b) Oxidation
) Reduction
d) Electrolytic

246,  Which product of the reaction between
a strong base and a strong acid makes the
reaction a neutralization reaction?

a) Salt

b) Water
c) Galt and water

d) pH of 7

247, all radioactive decays obey "

order kinetics?

a) First

b) Second

c) Third

d) Fourth

the study of reactions

is
ges in atomic nuclei

 —
involving chan
E|earochcmlsfﬂ’

b) physimlchemlstr)'
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c) Inorganic chemistry
d) Nuclear chemistry

249. What is the correct significant figure in
the number 0.06707

a) 5

b) 4

c 3

d) 2

250. The result of an analysis has a mean
value of 24.27mg with standard deviation of
0.012mg. What is the relative standard

deviation?
a) 4.50
b) 4.59
c) 4.94
d) 4.93

251. The option of this question paper is
(a) Uwah

(b) Okafor

(c) Ikpi

(d) Bassey

252. The oxidation number of phosphorous in
H4P207 is
(a) +1
(b) +3
(c)+5
(d) +10

253. Which is/are redox reaction(s)?
" (i) Clz + 20H— CI-+ClO"+ H20

(ii)NH3 + H*— NH4*
(iii) 2FeCl + Cl;— 2FeCls

(a)i

(b)iandii

(c) i and iii

(d) iii

254. Nuclei with------ numbers of nucleons are
generally more stable than those with -------
- numbers of nucleons
(a) odd, even
(b) even, odd
(c) large, small
(d) small, large

255. The development of the atomic bomb is an
application of

(a) radioactivity

(b) thermal reactions

(c) nuclear fusion

(d) nuclear fission

256. The freezing point of a .
benzoic acid in 100;0;‘;“{:“ of 0.25g of

observed to be 5.23720 Enzene
benlzenle to be 5?42720(?“‘1 that of l::]x?-z
molecular weight of : is
solution? K, = fgoﬂc/mbenzo‘c acdd jp tt‘}\é

(a)49.8¢g

(b) 2.5g

(c) 243.1g

(d) 0.1255g

257. The vapour pressure of a5
always....c.ceeeeeeernnnnen. With temperaturehquid

(a) remains constant

(b) decreases

(c) increases

(d) evaporates

258. 405K in Celsius is ------
(a) -132°C
(b) 132°C
(c) 678°C
(d)-678°C

259. What is the volume of 2.5 moles of
at S.T.P? [GMV = 22.4dm3)

(a) 80dm3 at STP

(b) 22.4 dm3 at STP

(c) 44.8 dm3 at STP

(d) 56.0 dm?3 at STP

Xygen

260. An endothermic reaction can oceur
spontaneously if the process leads to

(a) a more disordered state

(b) a more random state

(c)AandB

(d) none of the above

261. A reaction is spontaneous if......
(@) aAH=0 ]

(b) AH = negative

(c) AH = positive

(d) none of the above

262. Which of the following factors does 0t
affect the rate of a chemical reaction?

(a) concentration of reactants

(b) temperature '

(c) surface area of contact

(d) pressure

263. When the rate of a reaction is i“depende:t
of the concentration of a particular ¥
the reaction is said to be

(a) zero order

(b) first order

(c) half order

(d) none of the above
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4. One of these is not true
G cannot be changed by a catalyst
(b) 2 catalyst cannot modify the equilibrium of a

reaCtion o ey
a catalyst cannot initiate a reaction

c

d) a catalyst cannot change the activation
energy of a reaction between non gaseous
reactants

265. Choice of suitable electrode depends on

(@) chemical reactivity between the electrode

and the electrolyte _

b) chemical reactivity between the anode and
the cathode

(c) the power of the source of electricity

(d) the state of the electrolyte

266. In an electrolytic cell, the electrode that
attracts an anion is called

(a) an electrode

(b) a cathode

(c) an anode
(d) an oxidation reaction

267. The source of electricity in an electrolysis
circuit is

(a) the electrolyte

(b) the electrode

(c) the battery
(d) The electrolyte solution

268. The products of the electrolysis of aqueous
NaCl solution are

(a) Naand Cl

(b) Naz and Clz and Hz

(C) C]z and Hz

(d) Clz, Hz and HCl

269. The factors that alters the state of
equilibrium are

(a) concentration, pressure, temperature

(b) concentration, volume, temperature

(c) pressure, catalyst, volume

(d) catalyst, volume, temperature

270. In the decomposition of .

CaC0s(s)- CaO(s) + COz(g); the reaction will
attain dynamic equilibrium only

(a) when the reaction is in an open system

(b) when the reaction is in a closed system

(c) when the reaction is catalyzed

(d) when the reaction is heated strongly

271. A substitute that dissolves in a solvent to
form a solution is called a ---------

(a) solvent

(b) solution

(c) solute
(d) solid

272. Water has a bond angle of------
(2) 1045 501 d angle of:

(b) 96nm

(c) 1050 40!

(d) normal angle

273. Transition metals react with hot water to
form—

(a)Hydroxides
(b) oxides

(c) super oxides
(d) peroxides

274. The weak force of attraction arising from
the momentary imbalance in the charge
distribution preparation is called

(a) metallic bond

(b) van der waals forces

(c) hydrogen bond

(d) electrovalent bond

275. A bond which involves unequal sharing of
electrons between participating atoms is
called—

(a) ionic bond

(b) covalent bond

(c) dative bond

(d) hydrogen bond

276. A -—------ solution contains more of a solute
than is contained in the saturated solution

(a) super saturated

(b) saturated

(c) unsaturated

(d) standard

277. Carbon reacts with steam when it is white
hot to form-------------

278. One of these is not a property of the
gaseous state

(a) volume is variable
(b) particles are far apart from one another

(c) particles only vibrate in place
(d) takes the shape of the container

279. One of these is not a pure substances
(a) elements

(b) compounds

(c) sugar

(d) fog

280. The melting point of a substance is a--------
(a) physical property
(b) chemical property
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(C) thSica] &

Physica] hange

Change

281, DUring the

(a) liquid chan Process of

8es to soliq

es to
(c) gas changes ¢, soglgiadS

(d) liquid changes to gas

deposition

28
2. The molecular
perchlorate is
(a) Niclo,
(b) Ni(Cl0,),
(c) Nicl,
(d) NiClo,

formula of a nickel

283, I.SOtOPeS are atoms of the same elements
with differing numbers of

(a) protons

(b) neutrons

(c) electrons

(d) charges

284. The alkali metals belong to
periodic table

(a) main-group

(b) transition metals

(c) inner transition elements

(d) horizontal row or period

285. Amagat’s law of partial volume is given

at constant ___and

286. How many significant figures does
0.02670 and 338.0 have? ____and

hloride content of a sample
wing results: mean (%)

24.27mg and standard deviation 0.012mg.
what is the relative standard deviation

(RSD) and coefficient of variance

(cvy?

287.  Analysis of €
yielded the follo

2

288. The rate law statement is

289. The order of a chemical reaction is
definedas __7

290. A 2L Dumas bulb contains in moles of
nitrogen at 0.5atm at T kelvin. On addition
of 0.01moles of oxygen, it is necessary to
cool the bulb to a temperature of 10°C in
order to maintain the same temperature.
Calculatenand T.

291.  The agreement between the numerical
values of two or more measurements that

e 190THDAINZ DAINT THTARIAIS A [INICAI SMATT GATE GOLDIE MOUNT ZIoN
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the same fashion is

: in
been Ob[alned

have
known as? X .
. a puretté as 63
292 Classify readmg ct value of 15.65 ag
. nate error?

r
instead of the'n?ietermi
determinat€ ri

d as a solutio
i s forme n
Solid particl® while that formed whep
s ca?lled — ixed is called

utions 2

293.

cools i

ction betwe
. uct of the reac en
Which Pr"dand strong acid makes the

294. i
zation reaction?

a strong bas® ©
reaction @ neutr

: tion whereby the
emical reactiC re
Zlhaigcrs in the oxidation numbers of the
are C .
reacting SP€

295.

f information you obtain frop,

The bits ® ect are called?

296. .
your research pro)

operty of matter whoge

sical pr
A phy endent of the amoun o

magnitude is indep7
materials is termed?

297.

What was the remarkable success of

298.
Bohr's theory?

r an electron undergoing transitioy

from level n=2ton=1; .
i) Calculate the wavelength of this electronic

transition in meters
ij) Calculate the energy in Joules per mole

associated with this transition?

299. Fo

What is the relative rate of diffusion of
nitrogen compared to that of oxygen at the

same temperature?

300.

The function for determining the
spontaneity of chemical reactions are

enthalpy, _ and ?

301.

302. Chemical thermodynamics deals with
interactions in a chemical reaction

while thermochemistry  deals with
changes.

303.  The Gibbs free energy AG for 3 reaction
is 40KJ/mol, while that of AHis 16K] /mol &5

for the reaction at 25°C is?

greater the

304. The larger Ka, the
jons due ¥

concentration of
jonization?
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305. Chemical G
only? €quilibrium value varies with

306.  The rate of a chemic

represented al reaction can be

or 2
—_— !

307.  Give the highlight o

LOUIS DE-BROGUE to
modern structure of at

f the contribution of

308. If the value
: of azimuthal qu
ggtmhber is 3, Yvhat are the permitteqd 321?112;
€ magnetic quantum number, M;?

309.' (_;iven. th.at the molar conductivities at
infinite dilution of NaS04and S02- are 259
and 109 SCm2mol- respectively. Calculate

g';; molar conductivity at infinite dilution of

310. Give the cell notation for the galvanic
cell with the following cell reaction

2
Zngs) + Cu aq) = Zn** (gg) + Cuggy

311. A voltaic cell consist of
= 4 and

[ —

312. and are the two
laws explained by Dalton’s atomic theory
and the first above states thus ‘ ?

313. The cathode rays possess these
properties

i)

ii) .

314. The two main features of Rutherford’s
atomic model are _ and

315. Complete the following nuclear
equation and identify X
$5Co + In - JsMn + X

316. and are

—— - = .
particulate  type of radiation while
is electromagnetic radiation

317.  The zero order reactionis ___ ——

318, The rate of a chemical reaction of the
form A - B is expressed mathematically as

319. The option of this paper is
(a) Ita

(b) Etiuma
(c) Okafor
(d) Eno

320. Which type of nuclides are likely to decay
by alpha emission

() those with atomic number less than 83

(b) those with mass number less than 83

(c) those with atomic number greater than 83

(d) those with mass number greater than 83

321. Which of these NOT a property of the
compound formed when a metal reacts with
anon-metal?

(a) strong bond

(b) van der Waal's

(c) good electrolyte

(d) solubility in polar solvents

322. The mathematical expression for Raoult’s

law is given as
(a) P=PX
(b) AP=PX
(c) AP =PX
(d) Po=PX

323. Pick the odd one out
(a) Concentration

(b) Molarity

(c) Specific gravity

(d) Election affinity

324. For the order reaction
(a) tywao

(b) ty ac?

(C) ty 1 / ki

(d) None of the above

325. Which of the following does not define
oxidation?

(a) Loss of electron

(d) Increase in oxidation number

(c) gain in electrons

(d) addition of oxygen

326. For a zero law state that
(At %2 a0

(b)t¥21/ac

(c) none of the above

(d) all of the above

327. Avogadro's law state that
(a)Vxl/n

(b)Vn

()Nx1/v

(d) None of the above

328. A standard solution is a solution of----?
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(a) pure salt

(b) High concentration

(c) known concentration
(d) known chemical species

329. ------- is nota component of an electrolysis
is cell

(a) Electrode

(b) Electrolyte solution

(c) salt bridge

(d) external circuit

330. Universal gas constant R has value of
(a) 8.314kg

(b) 8.314]/mol

(c) 8.314] /mol/K

(d) None of the above

331. The units of the first order rate constant is-

(a)1/s

(b) 1/s2

(c) mol 1-1s1

(d) None of the above

332. Activation energy is

(a) always positive

(b) always negative

(c) can be positive or negative
(d) none of the above

333. Which of the following represents the rate
law

(a) Rate [A]¥[B}Y

(b) Rate [A]*/Y[B]/*

(C) Rate = Kx+y[A]2[Y]Y/3

(d) None of the above

334, The name of the philosopher that coined
the word ATOM is -===-==-=="""

(a) Anaxogoras

(b) Pythagoras

(c) Aristotle

(d) Democritus

335. Which of these IS NOT a solution
(a) Air '
(b) sea eater

(c)an alloy
(d) none of these

336. The reaction:

AgNOS[aq) + Nacl(aq) - AgC|(s] + NaN 03(aq] is

commonly used in the lab to proof the
validity of the law of--- 7
a conservation_of I‘.naSS
(b) Definite proportions
3 Multiple proportions

—

(d) Reciprocal proportions

337. What is the basic/fundamental reasgpg
why atoms react?

(a) to form ions

(b) to attain configuration of inert gas

(c) to neutralize valency

(d) to generate enthalpy change

338. The sixth electrons of carbon occupies
(a) Py-orbital
(b) Py-orbital
(c) Po-orbital
(d) Dy-orbital

339. Which is the statement of Boyle’s law
(@VvP

(b)V1/T

(VT

(d) None of the above

340. The chemical formula of the compound
oxygen is

(a) 0;

() O

(c) 0%

(d) 0%

341. The factors affecting the state of
equilibrium exclude

(a) concentration

(b) catalyst

(c) Temperature

(d) Pressure

342. The energy librated when an electro I8
added to a neutral atom in a gaseous statels |
referred to as

(a) ionization energy

(b) Electron affinity

(c) Electronegativity

(d) Electropositivity

343. Which of the following is 2 yPe
thermochemical equations? :

(2)2Hz(g) + O2g) 2 2H200)

(b) 2H20(g)— 2Hz(e) + O2(e)

(c) All of the above - ; i

(d) 2H20( 2Hz(g) + Oz AH =+

) of.,
e electrolys‘s

344. NaOH is a by-product in
(a) Molten NaCl

(b) Aqueous NaCl

(c) Molten NazS04

(d) Aqueous NazS04

345. Arrhenius equation 144 =4

Re. o DoamioN
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Scanned by CamScanner



QUESTION BANK by the Academic Surgeons 2021 | :‘
1

ffi))ﬁl:“e of the above

46, is not an ion present in aqueous
solution of KOH

a) K
%b) g}*'
@H0

347. What type of solution obeys Raoults law?
(a) Concentrated

(b) Real

(c) Ideal

(d) Perfect

348. The 4s orbital is filled before the 3d-
orbital, this follows:

(a) Pauli’s Exclusion principle

(b) Hund's Rule

(c) Aufbau principle

(d) Bohr's model

349, Which of the following radiations can be
emitted by the reaction 9%43Tc %° 43Tc

(a) “un

(b) :H

(C) 4He

(d) %Y

350. For a reaction: aA + bB = cC + dD, the law of
mass action can be expressed as

(a)K = [A][B]/[C][D]

(b) K = [C][D]/[A][B]

(c) K = [A]a[B]b/[C][D]¢

(d) K = [C][B]¢/[A]°[B]

351. Alpha particles may best be described by a
(a) Proton

(b) Hydrogen nucleus

(c) Helium nucleus

(d) Halogen nucleus

352. Which of the following is a characteristics
of chemical equilibrium

(a) The equilibrium state is a compromise
between two opposing tendencies

(b) chemical equilibrium is statics

() a catalyst can alter the position of
equilibrium

(d) attainment of equilibrium is mnon-
Spontaneous

353. The oxidation number of elements in a free

state is
(a) free

pg. 12

(b) zero :
(c) one
(d) oxidation iy

354. Pick the odd one out
(a) Molality i
(b) Molarity L
(c) Specific gravity ?
(d) None of the above

355. For a chemical species to form a dative '
covalent bond in MUST possess \

(a) Valence electrons

(b) Lone pair of electrons

(c) pie electrons

(d) Electron spilt spectra i

eSS

356. A cation is --------- in size than the parent
atom

(a) same

(b) smaller

(c) Bigger

(d) lonic

357. A+B - A- + B* the energy needed to obtain
A is called-----

(a) Electron affinity

(b) Lattice energy

(c) lonization energy

(d) Activation energy

358. Which of these given species has the
SMALLEST RADIUS

(a) Al

(b) A3+

(e cCl

(d) Cr

359. Ordinarily H20 would have been gaseous
but for the presence of -------

(a) Hydrogen bond

(b) Molecular orbital

(c) 105° angle

(d) Distorted Geometry

360. NaOH is a by-product in the electrolysis of-
(a) Molten NaCl

(b) Aqueous NaCl

(c) Molten Na;S04

(d) Aqueous Na;S04

361, ---—--- is not a component of an electrolysis

cell
(a) Electrode
(b) Electrolyte solution
(c) Salt bridge
(d) External circuit
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362. Calculate the partial pressure of water
vapour over a solution containing 68.4g of
sucrose in 1000g of water at 200C. Vapour

pressure of water at 200C i
P s Cis 2.315.

(b) 2.307Nm-2
(c) 23.30Nm
(d) 0.2307Nm-2

363.212 the vapour pressure of water at 200C is
-315. Calculate the partial pressure of
water vapour over a solution containing

68.4g of sucrose (C;»H,,0 i
water at 20°C. (et i 0005 o8

(a) 23.07KNM-2
(b) 2.307NM2
() 4.61KNm2
(d) 230.7Nm-2

364. Strontium-90, %gSr, is a nucleus in o-
radioactive fallouts. It decays to yttrium-90
with a half-life of 28 years. What fraction of
strontium 90 will remain after 84 years?

(a) ¥

(b) va

(c)1/8

(d)1/16

365. List the ions that are oxidized in the
following reactions:

2KMnO, + 10FeS0O4 + 8H2504—>2Mn804 &
5Fez(504)3 + K2504 + 8H20

(a) K*, Mn?+, Fe3*

(b) Fe?s,

(c) Mn7+, Fe?*

(d)

366. Calculate the oxidation number of nitrogen
in HNO3 and NH3

(a) +3 and +1

(b) +5and -3

(c) +5and +3

(d) -5and +1

367. The name of the philosopher that coined
the word ATOM jgemmmmmn

(a) Anaxogoras

(b) Pythagoras

(c) Aristotle

(d) Democritus

368. The reaction:

NO3(aq + NaClaar
égconi(r?:only used in the lab to

the law of----=-=="""
a) conservation of mass

(b) Definite proportion

Clis) + NaNO3(aq)
) PRESIE) proof validity of

(c) Multiple proportions
(d) Reciprocal proportions

369. The sixth electron of carbon occupies
(a) Px-orbital
(b) Py-orbital
(c)P;-orbital
(d) dy-orbital

370. The 4s orbital is filled before the 3d-

orbital, this follow
(a) Pauli’s Exclusion princtple
(b) Hund’s Rule
(c) Aufbau principle
(d) Bohr's model

ated when an electro is

libr
371. The energy | atom in a gaseous state

added to a neutra
is referred to as
(a) ionization energy
(b) Electro affinity
(c) Electronegativity
(d) Electopositivity

372. The chemical formula of the compound
oxygen is

(a) 02

(b)O

(c) 0%

(d) Q2+

373. The units of the first-order rate constant
are-----7 )

(c) moll-ts?
(d) none of the above

374, For first order reaction
() tij2e¢ a0

(b) t1/2e¢ 1/a0?

(c) none of the above

(d) All of the above

375. For a zero-order reaction

(a) ti/1%ao

(b) t1/2x 1/a.?

(c) none of the above

(d) all of the above

376. Which of the following represents the raté
law

(a) Rate [A]*[B}¥

(b) Rate [A]*/y[B]¥/

(c) none of the above

(d) all of the above

377. Boyle's law state that
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(a) VxP

(b) Ve 1/P

(c) All of the above

(d) V &< P2

(where V=volumeandP = pressure)

378. Avogadro’s law equation than

(A) Ve 1/n

(b) Ve

c) Ve n?
(d) None of the above
(where V is volume and n number of moles)

- 379. The universal gas law equation is
(A) PV = nRT

b) PV = 1/3mc? (for 1 mol of a gas)
(9 All of the above

(d) None of the above

380, The study of enthalpy of a reaction is called
 (a) Enthalpy chemistry

- (b) Thermoreaction

' (c) Thermochemistry

-~ (d) None of the above

'.581. For a reaction A B, rate is defined as
(a) -d[A]/dt

(b) +d[B]/dt

- (c)-d[B] /dt

- (d)+d[B]?/dt

* 382, Fora reaction of the form
aA + bB- cC + dD, the rate law is
 (a) Rate [A][B]?
 (b) Rate [A]{BJ"
' (c) Rate [A][B)
~ (d) Rate [A]/2[B]v/
383, The factors affecting the state of
- equilibrium exclude
- (a) concentration
b) catalyst
) Temperature
) Pressure

384'VWhiCh of the following is a characteristics
a‘ . of chgm_ical equilibrium
Ihe equilibrium  state is a compromise
chetw.ee" two opposing tendencies
emical equilibrium is static

3 catalyst can g : ;
@ equilibriym alter the position o

‘--»t_t‘,‘f"ment
"ONtaneoys

of equilibrium is non-

a byProduct in the electrolysis of--

(b) Aqueous Nacl
() Molten Na,s0,
(d) Aqueous Na;S0,

is not a compon
electrolysis cell ponent of an

(a) Electrode

(b) Electrolyte Solution
(c) Salt Bridge

(d) External Circuit

387, eeeeeee is not an ion present in aqueous
solution of KOH

(a) K

(b) OH-

(c) H*

(d) H,0

388. For a reaction: aA + bB— cC + dD the law of
mass action can be expressed as

(a) K= [A][B]/[C][D]

(b) K= [C][D]/[A][B]

(c) K = [A]2[B]*/[C][D]¢

(d) K= [C]<[D]¢/[A]*[B]®

389. Kp for the equilibrium at 1273°C for
ZCO(gJ + 0= 2C0z(g). If Kc is 2.24x10%2 at
the same temperature is

a) 1.76x10%

b) 2.84x10%

c) 2.34x10%

d) 2.14x10%0

390. Define the term photoelectric effect?

391. The carrier of current in electron?c
conductor is and electrolytic

conductoris 7

392.

- Reaction rate

h gives the energy pto
Thesg;sigm.gWhich of the energies repre

ion?
activation energy of the reaction:

a) K
b) L
c M
d M -L

profile of reacting
sent the
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393.. Which of the following factors do not
influence the emf of an electrolytic cell?

a) Temperature

b) Saltbridge

c) Type of electrode reaction

d) Concentration of reactants

394.  For 1mole of an ideal gas 1/RT equals
a) PV

b) nPV

c) PV/n

d) 1/pV

The total pressure exerted by a mixture of two
gases A and B is 76.20cmHg. The number of

moles of the two gases is 0.0075 and 0.0040
respectively.

395.  Calculate the partial pressure of gas A

396.  Calculate the partial pressure of gas B

397. In thermochemical equations of
reactions of reactants and products
and must be stated.

398. The splitting of energy levels in the
presence of magnetic field is called
while splitting in  electric field is
called?

399. Chemistry transverse all spheres of life
EXCEPT?

a) Agriculture

b) Technology

c) Construction

d) None of the above

400. Which of the following is not a reason
why electrolytic conduction is affected by

temperature? - e
i increase
a) Increase 1N temperature 10

i Jution
saturation rate of the so :
b) Increase in temperature increases the

ineti ions

kinetic energy of the )
i ture decreases the

¢) Increase in tempera

. ; lvent
iscosity of the s0 ,
d) Yncreasz in temperature increases fheeae

of migration of the ions.
One of these does not affect the rate of a
chemical reaction?

a) catalyst

b) Temperature

c) Pressure

d) Elasticity

401.

UNICAL SMALL GATE, GOLDIE MO

RI v
1‘0(0903'318576]., 08135301934)

—_—

402. The graphical representation of Boy
law can be described as Yies

a) Isobar

b) [sotherm

c) Isochore

d) Isosphere

403. In thermodynamic equilibrium
a) AG<O0

b) AG>0

c) AH =AS

d) AH =TAS

404. Only a change in will change
the value of the equilibrium constant for a
particular reaction?

405. The mathematical expression of de-
Broglie hypothesis is

a) A= L
mvV
b) 1=y
nh
c) mvr=_-

h
d) Ax.Ap = -

406. Name the resultant bond(s) in the
structure below

D ) SS OSSO

407.  All the following are physical changes
except?

a) Fusion

b) Sublimation

c) Vapourization

d) Combustion

408. Which of the following law W&
confirmed by Gay-Lussac in 1802?
a) Boyles law
b) Charles law
¢) Graham'slaw
d) Avogadro’slaw
st
409. The integrated rate equation fgr afir
order reaction is given as__—
410. Laplace and Hess law$ are based 0"
a) 2Mlaw of thermodynamics
b) 1stlaw of thermodynamics
¢) Zerothlaw of thermodynamics
d) None of the above ,
0 lmolldm-f
411, The molar conductvity S g 1st®”
aqueous NaCl solution at

yntZI0N
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its conductivity at these conditions is

0.13cm!

z) 1.0Scm?molt
b) 10 ScmZmol!

g 100 Scm2mol?
d) 1000 Scm?mol?

_ What atomic orbitals are represented
by the following combinations of quantum
numbers?

) n=4,l=0andm1=3

ii) n=21=0andm=0

412

413. Which of these statements is/are not
correct concerning Bohr's postulate.

a) The electron has a definite energy

characteristics of the orbit in which it is

moving

When the electron moves in the same orbit,

it does not change its energy

¢) The electron can take all the possible orbits

d) The electron exists only in certain spherical
orbits called shells or energy levels

b)

What is the cell notation for the cell

reaction
Zn(s) + Cu“ (aq) - ZTl2+ (aq) + Cu(s)

414.

415. The major contribution of Hess law is
?

416.  Allis true except?
a) The equilibrium constant (Kc or Kp) is

dimensionless quantity
b) The equilibrium constant helps in
predicting the direction of a reaction

c¢) A catalyst has no effect on the equilibrium
constant but affects the equilibrium
concentrations of the reacting species

Chemists are concerned with dynamic
equilibrium between phases and between

reacting substances

d)

417.  The equilibrium constant Kp expression

for
2CuS04=22Ca0ys) + 2502() + 02 iS?7 ———

Rt + InA, the

418.  In the expression Ink = -Ea/
obtained

activation energy can be
by
will proceed from

419.  If Q<K, the reaction
' ve equilibrium?

to to achie

420. The remarkable feature(s) ©f thef
[0}

equilibrium element is the presence

421. A compound X decomposes to form
products and the reaction is first order. The
gaigsf)onstant for the reaction at ZS;C is

: secl, What i -li
e s the half-life of X at that

a) 1.54sec

b) 0.693sec

c) 0.3119sec

d) 4.62x102min-!

422.  The most effective thermodynamics for
determining the spontaneity of a chemical
reaction is

a) AE

b) AG

c) AH

d) AS

423.  Isotopic abundance of an element is a
factor of variation in the number of

424, Energy effects seeks to answer the

question [
(a) why do chemical reactions occur
(b) how fast can the reaction go |
(c) are the ions involved in the reaction b
(d) are the opposite reaction speed the same '

425. A chemical bond is
(a) force of attraction existing between two

atoms
(b) force of attraction within an atom
(c) force of repulsion within an atom K

(d) all of the above

426. Using the oxidation state method, the
balanced red equation of the oxidation of
sulphur by nitric acid given the skeletal
equationas S + HNO3— SOz + NO is:

(a) 3S + 4HN03—3502 + 4NO + 2H20

(b) 3S + 3HNO3— 3502 + 3NO + 3/2H:

(c) 2S + 4HNOs + 2Hz— 250, + 4NO + 4H20

(d) 2S + 3HNO3 2502 + 3NO +3/2H2 + 0z

427. H,0 will react carbon to form water gas if

(a) the reaction takes place in H20

(b) carbon is present in the form of coke

(c) Carbon in present a powder form

(d) the reaction takes place in a non-aqueous

solvent

428, The characteristics of chemical equilibrium

include the following except,
(a) attainment of equilibrium is spontaneous

(b) chemical equilibrium is dynamic

o s TITORIALS @ UNICAL SMALL GATE, GOLDIE MOUNT ZION
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(c) the position of equilibrium is the same

irrespective of the direction from which it is
reached

(d) equilibrium state is between two parallel
tendencies

429. NaOHisab

(a) Molten Nacl

(b) Aqueous CuS0,

(¢) Molten CuS0,

(d) Aqueous NaC|

yproduct in the electrolysis of

430. Rain water during thunderstorm contains
dilute

(a) nitric acig

(b) hydrochloric acid

(<) sulphuric acid

(d) acid rain

431. The Science of chemistry developed from
observation made ahoyt the natyre and
behaviour of differen

t Kinds of matter is
collectively called
(@) observation

(b)properties
(©) scientific methods
(d) chemica) change

8¢ process. What is the
mass number and
final isotg
(a) 208, 74
(b) 228, 89
(c) 228,87
(d) 208, 82

433. Hydrogen bondj
(a) metallic bonding
(b) covalent bonding
() co-ordinate bonding
(d) electrovalent bonding

ngis formed by

434. If the attractive forces in a sold are small,
the vapour pressure of the solid will be

(a) high

(b) low

(c) immeasurable

(d) in equilibrium

i ula of the compound
43S'czlll:25tp(lsr1dtil:1eg tfc(;rtllle combination of PQ3,
and Mg2+?
(a) Mgs(PO4)2
(b) Mg2P0s
(c) Mg2(PO4)s
(d) Mgs(PO4)s

pe. 12

ALSMALL GATE,
UTORIALS @ UNIC
§TURNING POINTT (09030185761, 08135301934

. 3 n
f oxldatlo
436. Which of these is not true 0 l
number? ct physica
() oxidation number have no exact p
meaning o ave more
(b) all elements in the periodic table h
than one oxidation number el Gade F
(c) oxidation numbers helpt§ ; p
. : G
electrons in chemical reacti e Sl
(d) oxidation number can be as g
ionic compound
atom in a molecule or io
according to a specific set of rules

437.A bottle of commercial ammonillm
hydroxides is labeled 28.0% w/w_ with
specific gravity of 0.899g/ml. what is the

molarity of ammonia?
(a) 14.80M
(b) 14.00M
(c) 14.87M
(d) 13.96M
438, At equilibrium
(a) AH>TAS
(b) AH=TAS
() Tassay
(d) aGzo
439. Hydrq en bongj
@@ meta\llic{lxondirlldmg 7, e »
Covalent ndin
€) co-ordjp te bonding
d electroyy) tbonding

el
) ollowiy, exc:;ttm YSIS circyjt contains the
as0urce el
electy : ectnc1ty
c) electrolyte .
Solut
(@) salt brigg, *°Mtion
Fo .
es
al)prop lattéoan elowl select the
8as layyg, SWer from the following
MLy
ch
Nverse |, t 8as law do you have an
pre 19 hip d
Ssur €en volume an
442. In Whlch
Of the )
Drol)Ortlonal to t}?:snlaWselrs vfolunl'\e directly
of moles
443, | Whj
constang p, Sl:slergas laws i the condition of
€ applieq
444, Wiy, th
Cm; s
to be acqummm‘l’ilmum Number of electron
(a) 4 e

" 2p orbitals?

PIE MounT Zi0N
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(b) 6
(c) 10
(d) 14

445. Which atomic orbita] s represented by th
following combination of quantum nur};]b ‘
values; n=3,] =1 and m;=+1 o

(@) 3p

(b) 2s

(c)2d

(d) 3s

446. Which the following are isotopes:

I. Atoms of the same element having different
number of electrons

II. Atoms of an element having different
numbers of neutrons

111 49;9K and 403Ca

IV. 9038ST, 883gST, 7834Sr

(@) 1L 111, & IV

(b) lland IV

() 1L, and IV

(d) IV only

447. Usually a catalyst increases the rate of
reaction by providing a reaction pathway
~ with
(a) lower activation energy
(b) higher activation energy
(c) lower enthalpy
(d) higher enthalpy

448. The radioactive K-40 isotopes decay to Ar-
40 with a half-life of 1.20 x 107 years.
Calculate the age of a sample of moon rock
found to contain 16% K-40 and 84% Ar by

Mass.
(a) 2.87 x 10%rs
(b) 2.97 x 10%rs
() 3.17 x 10%rs
(d) 3.01x 108yrs

449. Which is not a redox reaction?
(a) 2FeCl; + Cl,» 2FeCl;

(b)Zn + 2HCl - ZnCl, + H,

(c) Cu0 + Hz— Cu +H;0

(d) Caz* + 2F-> CaF,

450. Which of these is not an example of a
Measurable property of matter

(a) volume

Eb)) Mass

¢) density

(d) anoys

45 .
L AanY Material which is composed of more
M one substances physically combined
together is calleg ieisna

(a) mixture
(b) solution
(c) matter

(d) an element

452. The effects of changes on equilibrium
position can be quantitatively analyzed by

applying
(a) Law of mass action
(b) Law of conversion of mass
(c) Le Chaterlier’s principle
(d) Daltons Atomic theory

453. Some transition metals react with hot
water or steam to produce

(a) element

(b) compound

(c) an oxide

(d) water gas

454. The factor affecting the state of equilibrium
exclude

(a) catalyst

(b) concentration

(c) temperature

(d) pressure

455. Vapour pressure of a solid increases with
increase in

(a) Temperature

(b) concentration

(c) Boiling point

(d) Melting point

456. A nuclei located above the stability belt
must undergo------- to achieve stability

(a) positron emission and electron capture

(b) neutron capture and beta emission

(c) beta emission only

(d) positron emission only

457. Electrovalent bonds are formed between
(a) a metal and a non-mental

(b) two metals

(c) two-non metals

(d) all of the above

458. In general, the increase in the rate of
reaction is due to

(a) decrease in temperature

(b) increase in fraction of molecules with
sufficient energy

(c) decrease in AG

(d) decrease in AS

459. lonic bonding involves
(a) exchange of electrons
(b) transfer of electrons

P8 129TURNING POINT TUTORIALS @ UNICAL SMALL GATE, GOLDIE MOUNT ZioN
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(¢) sharing of electrons

(d) combination of electrons gis a form of

B it b S SN oA T R A

460. The ideal gas equations is
(2) PV =nRT

(b)yPV= 13mnc'2

(c) all of the above
(d) none of the above

461. In balancing the redox reaction;
MnOg (aq) + 8H*aq) + X = Mn2*(aq) + 4H200),
the value of X is given as

() 10e

(b) 2e

(c) 5e

(d) 4e

462. Any material which is composed of more
than one substance physically combined
together is called

(a)mixture

(b) solution

(c) matter
(d) an element

463. Radioactivity is expressed in terms of
(a) rate of radioactive absorption

(b) rate of radioactive stability

(c) position of element in periodic table

(d) half life

464. For the reaction;

250, + 02— 2503

K = 1.0 x 10%litre mol-: this implies that;

(a) the equilibrium concentrations of SOz and Oz
are small

(b) the equilibrium concentrations of SOz and Oz
are large ,

(c) the equilibrium concentration of SO3 is small

(d) none of the above

465. Oxidation reaction may be defined as
follows except

(a) oxidation reaction is one in which electrons
is lost

(b) oxidation reaction is one in which there is
an increase in oxidation number

(c) oxidation reaction is one in which oxygen is
gained

(d) oxidation reaction is one in which hydrogen
is gained

466. Which of these is not an example of
measurable properties of matter

(a) volume

(b) mass

(c) density

(d) alloys

467. Dative bondin
(a) ionic bonding
(b) covalent bonding
() electrovalent k')ondmg
(d) metallic ponding

468. Boyles's Jaw states that
(@) PaV

(b)PaV?

(Pal A

(dPal/V

469. Electrolysis can pe used in the

(a) extraction of metals
(b) electroplating
(c)all of the above

(d) none of the above

470. How many moles are contained in 74g of

Mg(N03s)2?
(a) 0.5mol
(b) 1.0mol
(c) 1.5mol
(d) 0.75mol

471. For the reaction; A, + B2 2AB the rate of
the forward reaction is given as:

(a) re= K AB]?

(b) re= Ki{A2] [B2]

(c) re= K{A]2[B]?

(d) re= K¢[Az2B:]

472. What is the mass of copper deposited
when a current of 2.0 amperes is passed
through a copper electrolyte for 2 hours

(Cu = 64g, 1 Faraday = 96500 coulomb)

(a) 4.78g

(b) 9.56g

(c) 6.40g

(d) 12.80g

473. The density of COz ats.t.pis
(a) 1.99g/1

(b) 1.96cm3

(c) 1.96g/1

(d) 1.99cm?

474. Water is formed as a result of

(a) covalent bonding

(b) electrovalent bonding

(c) ionic bonding

(d) position bonding

475. The space around the nucleus with ths
highest probability of locating an electron!
an atom is called

(a) orbital

-—— i el
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(b) wave function
(c) electron cloud
(d) element

476. The equation 23891 —2345,Th 4 4,14

represents

(a) gamma bombardment
(b) beta decay

(c) alpha decay

(d) artificial radioactivity

477. For an exothermic reaction,
(a) heat is absorbed

(b) heat is adsorbed

(c)all of the above

(d) heatis evolved

478. Temporary hardness of water can be
caused by the presence in water of

(a) calcium bicarbonate

(b) calcium carbonate

(c) magnesium carbonate

(d) calciumsulphate

479. Water reacts with group 1 elements to give

(a) halogens
(b) halides
(c) alkaline solutions

(d) alcohols

480. A large quantum of energy is derivable

form
(a) nuclear fusion using positrons

(b) nuclear fusion using neutrons
(c) nuclear fission using neutrons
(d) nuclear fission using positrons

481, Which atomic orbital is represented by the
following combinations of quantum number
valuesn=2,I=0andm; =0

(@2p

(b) 2s

(c)2d

(d) 3s

482. Where does oxidation occur?
() at the cathode
(b) in the electrolyte
(c) at the half electrode
d) at the anode

48 :
3. The equation 238, ) —2349,Th 4 4,He

Tepresents

(2) gammg bombardment
€ta decay

(@ ?Ftiﬁcial radioactivity

4 .
(Sttr.n'cl)'lf.xfs_l:mt of first order reaction is
(b) s

(c) mol1

(d) moll-1s2

485. The scignce of chemistry developed from
observations made about the nature and
behaviour of different kinds of matter is
collectively called

(a) observation

(b) properties

(c) scientific methods

(d) chemical change

486. What happens if the temperature of the
system;
ZSOz(g) + Oz(g)—' 2503(); AH=-x KJmol-!

is decreased
(a) the reaction favours backward reaction

(b) the reaction favours forward reaction
(c) the reaction attains equilibrium fast
(d) the reaction favours both forward and

backward reactions

487. lonic compounds are very soluble in
(a) water

(b) benzene

(c) ethers

(d) crude oil

488. All catalysts
(a) increase the rate of a reaction

(b) decrease the rate of a reaction
(c) alter the rate of a reaction
(d) none of the above

489. The Latin name from which the symbol for
silver is derived is:

(a) Kalium

(b) Cuprum

(c) Argentum

(d) Stannum

490. In the decomposition of

CaC0s(s) = CaCO(s) + CO2(g);

the reaction will attain equilibrium only
(a) when the reaction is in open system
(b) when the reaction is heated strongly
(c) when the reaction is in a closed system
(d) when the reaction is catalyzed

491. Covalent compounds react very slowly in

(a) water
(b) organic solvents
(c) halogenic solutions

(d) benzene

Scanned by CamScanner



QUESTION BANK by the Academic S

ler:)z. From the reaction,
(aq) + 2Fe3*(aq— lps) + Fe*(q which is the

reducing agent
(a)l-
(b) 2Fe3*

(c)I2
(d) 2Fe?*

493, Given that
P.= total pressure,

P, = individual pressure and

X; = mole fraction,

Dalton's law of partial pressure s
(a) Pr =ZPi

(b) Pr= xiPi

(C) Pr= Xi/Pi

(d) xi = Pi/P?r

tates that

494. How many hours will it take to produce
25.0g of Cr from a solution of CrClz by 2
current of 2.75A7

(a) 13.06HTrs

(b) 12.06Hrs

(9 14.06Hrs

(d) 15.06Hrs

equilibrium can only be

495. A chemical
stem

achieved ina close sy
(a) true

(b) false
(c)all of the above

(d) none of the above

496. A chemical bond is-----
(a) force of attraction existing between two

atoms
(b) force of attraction withinan atom

(c) force of repulsion within an atom
(d) none
497. ---- molecules have the highest kinetic

energy
(a) gaseous
(b) liquid
(c) solids
(d) water

498. Water has high boiling point because

(a) it is ionic compound
(b) the presence of hydrogen bonding between

the molecules
(c) it is covalent compound
(d) it is formed through metallic bonding

499, Water will react with carbon to form water

(a) the reaction takes place in water
(b) carbon is present in the form of coke

ed form
non aqueous

ent in powde’

c) carbon is res
& A takes place " 2

(d) the reaction
solvent
to be attained,

500. For chemicC _
which of the following i
pe gases

ts mus
(a) reactah u be gaSBS

(b) products m
c products ust decom e
tbe reverst

(d) reaction mus
jved fro
ecules is called

502. The unit of rate of reaction is

(a) moles
(b) mol-ts?
(c) mole

(d) Lmolesec’
the rate of chemical

reduces .
the activation energy

503, ===
(a) temperature
(b) pressure

(<) concentration

(d) catalyst
504. Atoms of elements undergo bonding in

order to-----=""
(a) attainoctate and duplet

(b) form compounds
(c) undergo reaction
(d) none of the above

505. lonic bonds are formed between

(a) metals and non metals
(b) two metal atoms

(c) twonon metal atoms
(d) all of the above

506. lonic compound -------

(a) very soluble in organic compound

(b) are not soluble in water

(c) have high melting and bonding points

(d) all of the above

507. Hydrogen chloride is formed by
(a) melting bonding

(b) covalent bonding

(c) coordinate bonding

(d) ionic bonding
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508. According to the Jaw of mass actjon the
rate of a chemical reaction is propom-on'al to
the product of-----...

(a) the reactants

(b) concentration of the reactants

(c) concentration of the products

(d) none of the above

509. The minimum €nergy  required by
reactants to undergo reaction is called----._.

(a) chemical energy

(b) activation energy

(c) salvation energy

(d) kinetic energy

510. Areaction is spontaneoys when------

(a) AH is negative, AS is positive AG is negative
(b) AH is positive, AS is positive

(c) aG is positive AH is negative, AS is negative
(d) AH is positive, AS is hegative, AG is positive

511. The expression PV = nRT js called------.-
(a) the general gas law

(b) the ideal gas equation of state

(c) Dalton’s Law

(d) Raoult’s Law

512. All of the following atomic particles are
nucleons except----------

(a) electron

(b) protons

(c) neutrons

(d) positrons

513. Oxidation is a process involving------
(a) loss of electrons

(b) gain of electrons

(c) loss of protons

(d) Gain of protons

514. The three fundamental particles of an atom
are----..

(a) protons, neutrons and electrons

(b alpha, beta anq gamma

<) protons, neutrons and mesons

d) electrops, antineutrino and neutrons

5 -
15-8 Ill:e physical combination of two or more
cOmstances With properties to those of their
Ponents but without definite

COnCGHh‘HtiOH i
. IS called------
( )m] ture called

OCCurriy 7 as the only naturally

Orine isotopes, The percentage

P8.1337
URNING POINT TUTORIALS @ UNICAL SMALL GATE, GOLDIE M
(09030185761. 081252105

distribution which accounts or the atomic
weight of 35.5 is

(a) C1-35 = 75% and C1-37 = 25%

(b) CI-35 = 65% and Cl-37 = 35%

(c) C1-35=85% and C1-37 = 15%

(d) C1-35=40% and C1-37 = 60%

517. 10g of Si dust is exploded with 100g of O,
forming Si0;. How many grams of SiO; are
formed?

(a) 21.4g

(b) 88.6g

(c)11.4g

(d) 100g

518. Electrolytic conduction is made possible by
the dissociation of the electrolyte into------

(a) solution

(b) crystals

(c) ions

(d) all of the above

519. The following statements describes
Isotopes of elements except--------

(a) the atoms are exactly alike

(b) the atoms are atoms of the same element

(c) they have the same chemical prorogues

(d) they have the same number of protons

520. The volume of a gas is 500cm3 at a
temperature of 27°C. find its temperature in
K when the volume is suddenly increased to
1000cm3. Pressure remaining constant

(a) 700°k ‘

(b) 690°k

(c) 600k

(d) 750°K

521. in the electrolysis of aqueous NaCl
solution--------... is liberated at the anode

(a) sodium

(b) water

() chlorine

(d) oxygen

522. The Passage of current of 0.54 for 25mins
deposited 0.36g of Cy from a CuSQ, solution.
Calculate the molar mass of Cu,

(a) 63.5¢

(b) 60.3g

(c) 61.7¢

(d) 62.3g

523. Chemical reactions are accompanied b
energy changes 4

(a) false

(b) true

(c) none of the aboye

OUNT zion
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(d] Someti"les S
wa
rogéﬂ gas

SS
dapré
| pressuré 0

ted vapou’
7

524. A certain volume of hyd
collected over at 60c exerted
765mmHg. What is fthle partia
hydrogen gas 6% if the
pZessmlgre of water (SVP) at

(a) 755mmHg

(b) 758mmHg

(c) 765mmHg

(d) 750mmHg i

525. A certain amount of gas OCCtl;]l:ersmmber o
2atm and 10%. Calculate s 0082 at

moles of the present Take
mdm3K-t mol?)

(a) 0.61mols

(b) 0.56mols

(c) 0.43mols

(d) 0.40mols

alue of Azimuthally quantum
3. The permitted values of the
mber m are------

526. If the v
number is
magnetic quantum nu

(a) #3+2+1,0-1,-2,-3

(b) +1,+1,0-1,-2

(41,01

)7

527, The Latin name from which the symbol for
the chemical element sodium is derived
from

(a) Natrium

(b) Na
(c) Kalium
(d) Auruim

- 528 Absolute temperature js a theoretical

temperature characterized by a complete
absence of pegt and

equivalent to

(d)-273°¢

529, 4 8as X has , relat
15 to 3 wh
Calcylate the re
gas X

(a) 28
(b) 225
(c) 409
(d) 50

ive rate of diffusion
€N compareq to nitrogen.

lative molecular mass of the

bg. 13
- ”TURNING POINT ThitAmiaen ~ ..
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QUES e

ure of

530. Which of the following gase
slowest; 50z, Clz, 0z and Ar

(a) SOz,

(b) Clz,

(c) Oz

(d) Ar

S Wi" effusE

531. Equal volumes of 3 gases a
temperature and pressure contaj
number of particles, This is a st
which law?

(a) Charles law

(b) Boyle's law |

(c) Graham'’s law

(d) Avogadro’s law

t the Same
n the Same |
atement of

532.  Equilibrium constant va
with?

(a) Catalyst

(b) Temperature

(c) Concentration

(d) volume

lue changes

533.  Hydrogen iodide was prepared from
0.10 moles each of hydrogen and iodine. At
equilibrium, the concentrations of hydrogen
and iodine each dropped to 0.020 moles,
Equilibrium constant (Kc) for this reaction
is?

(a) 64

(b) 400

(c) 16

(d) 32

534. At equilibrium, a decrease in pressure

in the reaction between hydrogen and

iodine to give hydrogen iodine will cause
equilibrium to

(a) shift right

(b) shift left

(c) remain the same

(d) none of the above

The reaction between nitrogen and
hydrogen is exothermic at equilibrium 3
decrease in temperature will make
equilibrium constant
(a) decrease
(b) increase
(c) remain the same

bas.

(d) none of the above

. mawr ~AL n":' aaNLINT ZION ‘
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536. The p-v work done

s When a s
containing a gas eXpands ystem

from 1.0L o 2.0L

(a) -10Latm
(b) +10Latm
(c) 20Latm

(d) 120Latm

537. Under what condition
whose AH is negative and
spontaneous

(a) AG will always be negative

(b) AG will always be positive

(c) AG will always be zerg

(d) none of the above

will a Teaction
AS is POsitive pe

538. Heat can be transferred j
system but not

(a) matter

(b) pressure

(c) mass

(d) temperature

N a closed

539. A thermodynamic function,
independent of path but determined by the
state of a system is called

(a) Adiabatic function

(b) State function

(c) Isolated system

(d) Isobaric system

540.  Radioactive isotopes can effectively be
applied in all the following areas except

(a) chemical analysis

(b) medicine

(¢) Agriculture

(d) data handling

541, The rate-constant of a certai.n reaction
is 1.54 x 10-3s-1, Calculate its half-life

) none of the above

2. For zero- order reaction
(@) t4 o 1/(A)0

() t45 o a0

(c) All of the above

5@
pg. 135TURNING POINT TUTORIA

P

UNICALS
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(d) None of the above

543.  Arrhenius equation is
(a) K=AeE/RT

(b) K= AeE/r

(c) K=EetE/kr

(d) none of the above

544.  The mathematical relationship between

the loss in mass during the transformation
of proton and neutron into a nucleus and
the binding energy is

(a) E=me2

(b) E=Amc2

(¢) E= AmAc?

(d) E=AmAC

545. A radioisotopes of carbon (16C) will

delay by
(a) o-decay
(b) positron emission
(c) Negatron emission
(d) a radiation

546.  Which of the following properties is not

associated with the stability of a radjoactive
element?

(a) Half-life

(b) N/P ratio

(c) Binding energy
(d) Mass number

547.  Radioactive isotopes can effectively be
applied in all the following areas except

(a) chemical analysis

(b) medicine

(c) Agriculture

(d) data handling

548. What experiment led to the discovery of
the sub particles in atoms?
(a) Milikan oil experiment
(b) Mass spectrometry : .
(c) cathode ray tube experimen
(d) Hund's rule

ferred in a closed
t can be trans
549. Hea

system but not
(a) matter
(b) pressure

N
MALL GATE, GOLDIE MOUNT ZIO

08135301934)
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(¢) mass
(d) tem perature

550. A thermodynamic

independent of path but determin
state of a system is calleq
(a) Adiabatic function

(b) State function
() Isolated system
(d) Isobaric system

function,
ed by the

=

s 00N R WN

= O

12.
13.
14.
15.
16.
17.
18.
19.
20.
21.
22.

23.
24.
25.
26.
27.
28.
29.
30.
31.
32.
33.
34.
35:
36.

37.
38.

39;
40.
41.
42,

43,
44,
45,
46.
47,
48,
49,

Awmic Surgelon/\,szgg—

CHEMISTRY SOLUTION
OptionA  All digits except Z€ro that
are measured
Option C S
82222 2 oxidation occurs at thneS :\:&de
Option B solubility product €0
Option A Bronsted - lowryd
Option A remain unaffecte
OptionD  1.59
Option C +1635-9;2n

'_ 8‘;32?\(5 ([),.ow pressure and  high
temperature
optionB 2.0 moles
OptionB = AU=4-W
Option D Enthalpy
Option A Laplace Law
Option B Blackbody
Option A photoelectric effect
OptionA  Henry Becquerel
OptionB  Deposition
OptionD  Mass
OptionA  Eugen Goldstein &Cannal rays
OptionC  Crooker's cathode ray tube
experiment
Option B
Option B
Option B
OptionB  Disproportionation reaction
OptionA -1
Option A Electronic configuration
OptionC  Atomic number
Option A smoke detector
OptionB  Binding energy
OptionD  All of the above
OptionB  mol-212§1
Option B
OptionB  First order reaction
Option B

All elements in the periodi
table have more than one oxidation number
OptionA A metal and a non-metal
OptionB  Increase in fraction of molecule
with sufficient energy

OptionC  Le Chartelier's principle
OptionA  Temperature

OptionC  Beta emission only ioting
OptionA  Force of attraction =
between two atoms

OptionC  Boyles

OptionD  Avogadro

Option A Charles

Option A Catalyst

OptionD  Alloys

OptionC  Anoxide

OptionA  Mixture

. .sinics POINT TUTORIALS @ UNICAL SMALL GATE. GOLDIE MOUNT 2 J
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50.
51.
b2,
53,

54.

55y
56.
57

58.
59.
60.

61.
62.
63.
64.
65.

66.
67.
68.
69.
70.
71.
72
s,

74.

75.
76.
77
78.
79
80.
81.
82.
83.
84.
85.

86.
87.
88.
89.
90.
91.
92.
93,
94.
95:
96.
9%
98.

99.

OptionD a2+ o=
Optfon C 317x 10° nCly + Cap
Op t!on A Lower acti
Option A Concenty +ation energy
temperature ation, Pressure anq
OptionB A Catalyst
equilibrium of reaction Cannot modify 4,
Opt?on A 35.288995am
8ptlon C 1406hrs

ptionC  The
bonding between itgr;?]relzﬁl of hydrogen
OptionD  Catalyst *
8pgong Molality

ption The sj
energy of the elecgz,z: of the orbita] ang
OptionC 44
OptionB  0.5mo]
OptionD  Electro-negativi
8Pti0“g Nuclear fis%ior:n g

ption The emissi ;
electron from the decay]i%ré r?lic?esslgh speed
OptionD  Cathode and anode
OptionD  Cell reaction
OptionA  Heavy water
OptionC  Tritium
OptionD  Tooth decay
OptionA  0.52924
OptionD  Photons
OptionA  orbitals
Option A =21

my
OptionA  4F,2s
OptionD  standard deviation
Option B systematic error
OptionC  -0.09mg
OptionD  chemical reactions
Option C  electrical and chemical energy
OptionD  The electrification
OptionD  Electrolyte solutions
Option  Zn()/Zn*(ag)//Cu(sa)/Clty
Option C
Ogtion C  Atom is the basic building block
of matter
OptionB  Neutrons and protons
Option C  Adiabatic process
OptionA  Extensive property
OptionB  Temperature
OptionC x+y
Option Zn(e/In% @)/ /Cu? @/ CE)
Option C S
OptionA  Lowering the activation energy
OptionA  +7
OptionA  Reducing agent
OptionB  Neutron
OptionD  Positron
OptionD  X-ray
Option B n-P—-:T =
Option B 1atm

Academic Surgeons | 2021

ig; Option C 98.40F

103' Opﬁon D Real gas

104 Optfon C 1.73x 107

105 Onionc B

106. Optfon C (0.2M and 0.1M)
' ption B Carbon present in the
form of coke

}g; OPtion B Activation energy
- Option A AH is negative, AS is
positive, AG is negative

109.  Option B Ideal gas equation of
state

110.  OptionD Reaction must be
reversible

111.  OptionA Potential energy

112.  Option B mol [71571

113.  OptionD Catalyst

114.  OptionA V x 1/, (T constant)
and V x T (P constant)

115.  OptionC 600K

116.  Option B Covalent bond

117. OptionA Metal and non metals

118.  OptionC Have high melting and
boiling point

119.  Option A The atoms are exactly
alike

120.  OptionA True _

121.  OptionA Force of attraction
existing between two atoms

122. OptionA Gaseous

123. OptionB The presence  of
hydrogen boiling between the molecules

124. OptionB Concentration of the
reactant

125.  OptionA 63.5g

126.  Option B True

127.  Option B 785mmHg

128. OptionC 0.43moles

129.  Option A Electrons

130.  OptionA Loss of electrons

131.  OptionA Protons, neutrons and
electrons

132.  OptionA Mixture

133.  Option A Cl-35=75% and
Cl—37=25%

134.  Option B 88.6g

135.  OptionC lons

136.  OptionC Chlorine

137.  OptionD 7

138.  OptionA Natrium

139.  OptionA Attain  octate and
duplet state

140.  OptionC Density

141.  OptionB 0.072min-t

142.  OptionC Lon

143.  Option A moll-1§-1

144.  Option B

145. Option C §=7.85,2¢=21.15
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QUESTION BANK by the Aca

146.  OptionB 2,1
147.  OptionC 5
148. AU =q-PAV
149.  Option B [nternal energy and
enthalpy
150. OptionD Enthalpy
151,  Option A Al3+< Mg2t< Na*
152.  OptionC
153.  OptionC Avogadro’s 1aw
154.  Option A 0.5moles
155.  OptionD 0.734atm
156.  Option A
157. Option B
158.  OptionC ol
159. OptionA 9f3ff*-?tKJm
160. OptionD Infinite ction
161. OptionB Zero order €2
162.  Option C
: 59
163.  Option B 2;),-_5qguare
164. Option C
165. optionA o
166, OptionA m ‘#\"
167. Option D
168,  option ¢ itation
169. Option c precnpxta i
170. option B
171, optionD
172. Option c r
173, optionA o
g thetic effect
174. Opnonj zl:fh;tsosyﬂ
175.  Option ’ f the
176 OpthﬂD None o
above
177, Option D None of the
above ,
178, OptionC Aufbau’s
principle
179,  Option A tiy2 % @0
150 Option C Can be positive or negative
181.  Option D 2H,0( = 2Hz@@ + 020
AH = xKj
182.  Option A The equilibrium state
is a compromise between two opposing
tendency. ,
183. OptionA Rate X [A]"[B]y
184,  Option C 8.314K]J /mol/k
185.  Option B Aqueous NaCl
186.  Option D Electron affinity
1187. Option D H,0
88.  Option D Kno .
species wn chemical
189.  Option C Salt bridge
190.  Option B Vxn
191.  Option A 0,
192, Option B Catalyst
113: Option D None of the ab
' : abo
Option C [deal ve

Electl‘
onB
195. Optf D 3)’/ poxX .
196. Opthn P Wlth atomic
197. optioné Thos®
option n 83 .S
p ter tha Dem Crl;:tain the

8.
i mber 7€

u
tion D To
199 B -
optio? hert 82 ihese
20 c ﬁg”ra“on of """ None g enCY/Hetz)
option P 1/ (frea!
20 o’ n 5 cleus
202 ope” Hell jon of ass
3 optic’ conse” idation
534 OptiOn A mcreas
© pption
5' als
20 number va der V_Val
tion B _ orbitd
206 op o P
opt Zero :
- ovalent
588 option Non—pola c
tion _
509. 9P
pond [sotop¥Y
70, OPUEY B
11. v 1 ,
; 2. spe af orb/\w;l,; Mes_Sloom A
213"‘é/\ggméw zathode, salt pridge. external
214, Anoce
ircuit ] ¢ the
215 “ ()i redicts the direction 0
. reaction )
ilibri ncentration
(ii) calculate the equ111br1um co
216. 324
217. Open closed and 1solgted
218. (i) Extensive P ertl_es
(ii) lntensi/ve propertles
219. (1) q/m =7
2
(i) = = HeV
920. (i) Most of the mass and all the positive
charge of an atom are centered in a very
small region called Nucleus
e of the charge on the

nucleus is different

221

222
223.

224.
225.

226.
227.
228.
229.
230.
231.
232.
233.
234.
235.

(i) The magnitud
for different atoms
PV = ImnC Az

6.022 x 10%°mol™’
—AC
Rate = —

At

mol=21?571
(i)Electronaf finity
(ii) Larger
(i) Crystal (i) Precipitate
Neutron to proton ratio
4He
(i) systematic (ii) Random error
Infinite dilution
Option D (All of the above)
Option B 6
Option D
gpt.lon D 1000.0ScmZmol-!

ption B Not static
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236.  Option p
237. Option B Adi .
238. Option A L labatic 288.  Ratelawis the mathematical expression
239.  Opt aplace law of rate i ,
ption A Seii In terms of concentration of the
240. Proton Number/ At W.ater and air - Teactants appearing in the rate equation
241. Option C Omic number 9. The sum of the exponents of the
242, Option A 20 f;‘:\lcemratlon terms appearing in the rate
;:2- gption A L 290. (1) 0.033 moles (i) 370K
: ption A .+ Precision
245.  OptionB Rate alA]*[B]® 292.  Determinate error
246. Option B ggz \(/lv) crystals (ii) precipitate
247. Optio . . ater
248, ogtiog ‘3 Hlist 295.  Oxidation
249.  Option C 296.  Data
297.  Intensive property
250.  0.494 :
251 Option 298. It could explain the spectrum of
2 52' Op g hydrogen and hydrogen like atoms
» . ZptionC +5 299. (i) 1.2157 x 10-7m (ii) 984.2KJmol-*
253. Opt?on D (iii) 300. 11
254. 0pt{0n B Even, odd 301. (i) state function (ii) internal energy
2. Optgon D Nuclear fission and (iii) Entropy
256. Opt}OH A 49.8g 302. (i) spontaneity (ii) Heat
;g; 8PF0“ g Increases ggi ;48%_?]/1(
: ption 132¢C : obile
259. Option D 56.0dm3 at 305. Changein temperature
STP 306. Linearly or non- linearly
260. Option C Aand B _ 307-[,' hDuality of light
261.  Option B AH = negative | lghtasa wave
262 Option D Pressiire (ii) Light as a particle
' : 308. Mi=(-3,-2,-1,0,1,2,3)
263. Option A Zero order 309. 75 Scmzmol’
264. thlon B o A cata]ys't cannot 310, Zngy/Zn%sq//Cut g /Cue
modify the equilibrium of a reaction 311, (i) the anode
265.  Option A Chemical  reactivity (if) The cathode
between the electrode and the electrolyte i) Asaltbridge
266.  Option C An anode (iv) Half cells
267.  Option C The battery 312. (i) law of concentration of mass
268.  OptionD Cla, Hy and.HCl (ii) law of definite proportions .
269.  Option A Concentration, 313. (i) They are deflected both electric and
pressure, temperature L magnetic field
270.  Option B When the reaction s in (i) they cause many substances to
a closed system fluorescence
271.  OptionC Solute 314. (i) most of the mass and all the positive
272.  OptionA 104° 50! charge of an atom are entered in a very
i Hydroxides small region called nucleus
273. Opt}on A ) or Waals forces n g _
274, Option B Van ae (ii) the magnitude of the charge on the
275.  Option C Dative bond nucleus is different for different atoms
276.  Option A Super saturated 315 4He
277.  Water gas _ v vibrate 316. (i) particulate radiations are
278.  Option C Particles only Vi (a) alpha particles
in place (b) beta particles
279.  Option D Fﬁg ical property (i) Electromagnetic radiation
280.  OptionA Physica ; (a) X - radiation
olid
281, Option C G?scc‘?;n)ges o 317. When the rate the reaction is
282.  OptionB Ni (C104): independent of the concentration of the
283.  Option B Neutl‘on?‘v1 - reactant
284, Option A 318. Rate= d[4]
285, . Temperature and pressure 3 T
286, 4sf4sf 19.  Option
287. (i) 0.494 (ii) 0.0494
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. Conservation of
. tion A . Mas
320.  OptionC Those with atomic ggg' 8Stion B Py o orbital y
‘ number greater than 83 370' option G élu tau Sf?F‘PCiple
i 321. OptionB Vander Waals 371' option B 02ec ro affinity
‘ ‘ gg; 8P§0n g gl:clzsc))(n affinity 372. Opt%O: /}: 1/3
iR . ption Optio
I 324. Option A ti2 X Go g;i oSnon g i“‘;“‘; OCf the above
i P * : 1/2 4
325.  OptionC Gain in electrons 375. option Rate o< [A]*[B]Y
326. OptionA t1/2 X d, 376. Optloﬂ A N 1/
! 327.  Option B Vxn . 77, Option P
] 328.  OptionC Known concentration 377, \ption B VN
| 1! H 329. OptionC Salt bridge 378. option C All of the above
| 330.  Option C 8.314]/mol/K ggg' option C Tt‘f{:}‘? dChemistry
331. Option A s . 381. option
332, OptionC Can be positive O 3g2. option A Rate & [A]*[B]®
: negative option B Catalyst
B 333. i Option A Rate o [A]*[B]” ggi option A The equilibrium sta,
| 334, Option D Democritus “s a compromisé between two opposing
‘, 335. OptionD None of the these lendencies
L 336,  Option A Conseryation c.)fma:in 385 option B Aqueous NacCl
| 337. Option® Tomriditene £EES 3g6. optionC E{al(; bridge
338 °fm3gtﬁ>a§ B P, - orbital 3g7.  Option D " e
339 Option D None of the above 388. Option D k= [A]‘I[B]b
340. Option A 02 389 Option A 1.76 x 1020
341, OptionB Catalyst 390: This is the phenomenon  whereby
342.  OptionB Electron affml;);I . electrons are ejected from the surface of a
343. OpAtliqon D y 2H:0 2(g) * etal when irradiate by U-V light
Oy9(e); AH = +xKj ; ey
344 29(g()thion B Aqueous NaCl 391. Q e.lectrons (ii) fons
345. Option D None of the above 392.  Option C
346' Option D H:0 393. Option B .
347. OptionC [deal 394, Option D =
348,  OptionC Aufbal principle 395.  49.70cmHg
349.  OptionD o 396.  26.5cmHg
350, Option D k= [[—A%# 397. (i) physical state (ii) Enthalpy change
351, OptionC Helium nucleus 398. (i) Zeeman s effect (ii) Stark’s effect
352. OptionA The equilibrium state 399. Optfon D
is a compromise between two opposing 400.  Option C
tendencies 401.  Option D Elasticity
353.  Option B Zero 402.  Option B isotherm
354.  Option D None of the 403.  Option D AH = TAS
above 404. Temperature
355.  Option B None pair of electrons 405.  Option A =
356.  Option B Smaller 406, (i T omy
357.  Option A Electron . (i) Electrovalent (ii) covalent
affinity 407.  Option D combustion
33;58- Option B Al 208- Option B Charles Law
9.b dOptlon A Hydrogen 429- a= :;‘loe'kt f
260 onO o 0. h Option B 1st law .
. ption the i
345’1 361.  Option C Aqueous NaCl 411 rmodynamics
.; 362.  Option B Salt bridge 41 ' thlon D 1000Scm?mol’
W 363 Option B 2.307Nm2 2. (i) 4f (ii) 2s
) ‘ 2.307Nm-2 413.  OptionC
364. Option C 1/ 414. Zng)/Zn2+ "
| 365 Option A 8 | s /ATea//Cue/CU |, b
i 366.  Option D K*, Mn2*, Fe3+ : » at thermolecular equations i
it 367.  Opti +5and +1 added, subtracted, multiplied and divide
. ptionD " - Democritus ordinary numbers
416.  No answer
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417.  Kp=(PS02)? (POy)
418. Ea=-(slope)xR

419. Left to right
420. (i) variable oxidation

3 ; N
(ii) formation of complex iot:;e
(iif) coloured compounds etc

421, OptionA 1.54sec
422. Option B AG
Neutrons

423.
424. Option B how fast can th
. e .
425. Option A force of amadio;e:)gt;gg ggo

petween two atoms
426. Option C 25 + 4HNO; + 2H, - 250, +
2

4NO + 4H,0
427. Option B Carbon is present in the form

of coke
428. Option D Equilibrium state is between

two parallel tendencies

429. Option D Aqueous Nacl
430. Option A Litric acid

431. Option C scientific method
432. Option D 208, 82

433. Option B Covalent bonding
434, Option A High

435. Option A Mgs (P04)2
436. Option B All elements in the periodic

table have more than one oxidation number

437.0ption A 14.80M

438, Option B AH = TAS

439, Option Covalent bonding
440, Option D Salt bridge

441. Boyle’s law
442. Avogadro’s 1|aw
443, Charles’s law
444.0ption B 6
445, Option A 3P
446, Option B
447. Option B lower activation energy
448, Option C 3.17 X 10%yrs
449, Option D Ca** + 2f - Cafz
450, Option D Alloys
451, Option A Mixture
452, Option C le Chaterl
453. Option C An oxide
:‘gg Option A Catalyst
o gpt}on A Temperature
457 Optfon C Beta emission only
458, Opt3on A A metal and a non-me
molec Pltloﬂ B Increase infraction 0
459 Ou es without efficient energy
460, OPL!OH B Transfer of elements

61 Opt.‘)n C All of the above

62 OP ion C se

Ption A Mixture

3. .
Option D Halflife
ations

464, Opti
S0, ang%on A The equilibrium concentr

ier’s principle

tals

:66. Option D Alloys

67. Option B Covalent bonding
468. Option D P X =

469. Option C All ol;'the above
470. Option A 0.5mol
471.Option A 7, = ks[AB]
472.0Option A 4.78g

473. Option C 1.96g/c

474. Option A Covalent bonding
475. Option A Orbial
476.Option  Alpha decay

477. Option D Heatis evolved
478. Option Calcium bicarbonate

479, Option C alkaline solutions
480. Option C Nuclear fission using neutrons

481.Option A 2P
482.Option D Atthe anode
483. Option C Alpha decay
484. 0ption C S
485. Option C Scienti
486. Option B The reaction
forward reaction.

487. Option A Water

488. Option C After the rate of a reaction

489. Option C Argentum
490. Option C when the reaction is closed

system.
491, Option A Water

492. Option A 1~

493, Option D X = Pi/Py

494, Option C 14.06 Hrs

495, Option A True

496. Option A force of attraction existing
between two atoms

497. Option A Gaseous

498. Option B The presence ofh
bonding between the molecules.
499, Option B Carbon is presence in
of coke
£00. Option D reaction must be
501. Option A Potential energy

502. Option B mol 171571

503. Option D catalyst

504. Option A Attain octane and duplet

505. Option A Metals and non metals

506. Option C Have high melting and boiling

oints.

P
507. Option B
B concentrations of the reactants

508. Option
£09. Option B Activation energy

510. Option A

AH s negative, As is positive AG is negative
511, Option B The ideal gas equation of state
512. option A Electron
513. Option A Loss of electrons

514. Option A Protons, neutrons and

electrons

fic methods
favours the

ydrogen

the form

reserve
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515. Option A Mixture
516. Option A ¢l — 35
25%

517. Option B 88.68

518. Option C Tons
519. Option A The atoms are exactl

520. Option A 700°K
521. Option C Chlorine
522. Option A 63.58

523. Option B True
524. Option B 758 mmHg

525. Option C 0.43mols
526. Option D 7

527. Option A Natrium
528. Option D - 2230C or OK
529. Option D 50

530. Option B Clz
531. Option B Avogadro’s law

532. Option B Temperature

533. Option A 64
534. Option C Remain the same

535. Option B [ncrease
536. Option A -10 Latm

537. Option A AG will always be negative
538. Option A Matter

539. Option B State function

540. Option D

541. Option C 450s

542. Option B t 1/5 a [Ao]°

543. Option B k = Ae F%/R¢

544. Option B E = AMC?

545. Option B Position emission

546. Option C Binding energy

547. Option D Data handling

548. Option C Cathode ray tube experiment.
549. Option A Matter

550. Option B State function

= 75% and cl—37 =

y alike
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